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CCHHAAPPTTEERR  FFIIVVEE::  VVIIOOLLAATTIIOONNSS  OOFF  TTHHEE  CCLLAASSSSIICCAALL  AASSSSUUMMPPTTIIOONNSS    

  

55..11  MMUULLTTIICCOOLLLLIINNEEAARRIITTYY  

  

aa))  TThhee   nnaattuurree   ooff  tthhee   pprroobblleemm  

OOnnee  ooff  tthhee  aassssuummppttiioonnss  ooff  tthhee  ccllaassssiiccaall  lliinneeaarr  rreeggrreessssiioonn  mmooddeell  ((CCLLRRMM))  iiss  tthhaatt  tthheerree  iiss  nnoo  

ppeerrffeecctt  mmuullttiiccoolllliinneeaarriittyy  aammoonngg  tthhee  rreeggrreessssoorrss  iinncclluuddeedd  iinn  tthhee  rreeggrreessssiioonn  mmooddeell..  AAlltthhoouugghh  tthhee  

aassssuummppttiioonn  iiss  ssaaiidd  ttoo  bbee  vviioollaatteedd  oonnllyy  iinn  tthhee  ccaassee  ooff  eexxaacctt  mmuullttiiccoolllliinneeaarriittyy  ((ii..ee..  aann  eexxaacctt  lliinneeaarr  

rreellaattiioonnsshhiipp  aammoonngg  ssoommee  ooff  tthhee  rreeggrreessssoorrss)),,  tthhee  pprreesseennccee  ooff  mmuullttiiccoolllliinneeaarriittyy  ((aann  aapppprrooxxiimmaattee  

lliinneeaarr  rreellaattiioonnsshhiipp  aammoonngg  ssoommee  ooff  tthhee  rreeggrreessssoorrss))  lleeaaddss  ttoo  eessttiimmaatt iioonn  pprroobblleemmss..  

  

MMuullttiiccoolllliinneeaarriittyy  ddooeess  nnoott  ddeeppeenndd  oonn  aannyy  tthheeoorreettiiccaall  oorr  aaccttuuaall  lliinneeaarr  rreellaattiioonnsshhiipp  aammoonngg  aannyy  ooff  

tthhee  rreeggrreessssoorrss;;  iitt  ddeeppeennddss  oonn  tthhee  eexxiisstteennccee  ooff  aann  aapppprrooxxiimmaattee  lliinneeaarr  rreellaattiioonnsshhiipp  iinn  tthhee  ddaattaa  sseett  aatt  

hhaanndd..  UUnnlliikkee  mmoosstt  ootthheerr  eessttiimmaattiioonn  pprroobblleemmss,,  tthhiiss  pprroobblleemm  iiss  ccaauusseedd  bbyy  tthhee  ppaarrttiiccuullaarr  ssaammppllee  

aavvaaiillaabb llee..    

TThhee  eexxiisstteennccee  ooff  mmuullttiiccoolllliinneeaarriittyy  wwiillll  aaffffeecctt  sseerriioouussllyy  tthhee  ppaarraammeetteerr  eessttiimmaatteess..  IInnttuuiittiivveellyy,,  wwhheenn  

aannyy  ttwwoo  eexxppllaannaattoorryy  vvaarriiaabblleess  aarree  cchhaannggiinngg  iinn  nneeaarrllyy  tthhee  ssaammee  wwaayy,,  iitt  bbeeccoommeess  eexxttrreemmeellyy  

ddiiffffiiccuulltt  ttoo  eessttaabblliisshh  tthhee  iinnfflluueennccee  ooff  eeaacchh  rreeggrreessssoorr  oonn  tthhee  ddeeppeennddeenntt  vvaarriiaabbllee  sseeppaarraatteellyy..    

  

  

CCoonnssiiddeerr  tthhee  ccoonnssuummpptt iioonn–– iinnccoo mmee  mmooddeell  

CCoonnssuummpptt iioonnii  ==  ββ00   ++  ββ11   IInnccoommeeii  ++  ββ22   WWeeaalltthhii  ++  uuii  

IItt  mmaayy  hhaappppeenn  tthhaatt  wwhheenn  wwee  oobbttaaiinn  ddaattaa  oonn  iinnccoommee  aanndd  wweeaalltthh,,  tthhee  ttwwoo  vvaarriiaabblleess  mmaayy  bbee  hhiigghhllyy,,  

iiff  nnoott  ppeerrffeeccttllyy,,  ccoorrrreellaatteedd::  WWeeaalltthhiieerr  ppeeooppllee  ggeenneerraallllyy  tteenndd  ttoo  hhaavvee  hhiigghheerr  iinnccoommeess..  TThhuuss,,  

aalltthhoouugghh  iinn  tthheeoorryy  iinnccoommee  aanndd  wweeaalltthh  aarree  llooggiiccaall  ccaannddiiddaatteess  ttoo  eexxppllaaiinn  tthhee  bbeehhaavviioorr  ooff  

ccoonnssuummppttiioonn  eexxppeennddiittuurree,,  iinn  pprraaccttiiccee  ((ii..ee..,,  iinn  tthhee  ssaammppllee))  iitt  mmaayy  bbee  ddiiffffiiccuulltt  ttoo  ddiisseennttaannggllee  tthhee  

sseeppaarraattee  iinnfflluueenncceess  ooff  iinnccoommee  aanndd  wweeaalltthh  oonn  ccoonnssuummpptt iioo nn  eexxppeennddiittuurree..    

  

IIddeeaallllyy,,  ttoo  aasssseessss  tthhee  iinnddiivviidduuaall  eeffffeeccttss  ooff  wweeaalltthh  aanndd  iinnccoommee  oonn  ccoonnssuummppttiioonn  eexxppeennddiittuurree  wwee  

nneeeedd  aa  ssuuffffiicciieenntt  nnuummbbeerr  ooff  ssaammppllee  oobbsseerrvvaattiioonnss  ooff  wweeaalltthhyy  iinnddiivviidduuaallss  wwiitthh  llooww  iinnccoommee,,  aanndd  

hhiigghh-- iinnccoommee  iinnddiivviidduuaallss  wwiitthh  llooww  wweeaalltthh..    AAlltthhoouugghh  tthhiiss  mmaayy  bbee  ppoossssiibbllee  iinn  ccrroossss  sseeccttiioonnaall  

ssttuuddiieess  ((bbyy  iinnccrreeaassiinngg  tthhee  ssaammppllee  ssiizzee)),,  iitt  iiss  vveerryy  ddiiffffiiccuulltt  ttoo  aacchhiieevvee  iinn  aaggggrreeggaattee  ttiimmee  sseerriieess  

wwoorrkk..  

  

IInn  ggeenneerraall,,  tthhee  pprroobblleemm  ooff  mmuullttiiccoolllliinneeaarriittyy  aarriisseess  wwhheenn  iinnddiivviidduuaall  eeffffeeccttss  ooff  eexxppllaannaattoorryy  

vvaarriiaabblleess  ccaannnnoott  bbee  iissoollaatteedd  aanndd  tthhee  ccoorrrreessppoonnddiinngg  ppaarraammeetteerr  mmaaggnniittuuddeess  ccaannnnoott  bbee  ddeetteerrmmiinneedd  

wwiitthh  tthhee  ddeessiirreedd  ddeeggrreeee  ooff  pprreecciissiioonn..  TThhoouugghh  iitt  iiss  qquuiittee  ffrreeqquueenntt  iinn  ccrroossss  sseeccttiioonn  ddaattaa  aass  wweellll,,  

mmuulltt iiccoo llll iinneeaa rr iittyy  tteennddss  ttoo  bbee  mmoorree  ccoommmmoonn  aanndd  mmoorree  sseerriioouuss  pprroobblleemm  iinn  ttiimmee  sseerriieess  ddaattaa..    
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            b)    Sources of multicollinearity 

 

1. The data collection method employed, for example, sampling over a limited range of the 

values taken by the regressors in the population. 

2. Constraints on the model or in the population being sampled. For example, in the 

regression of electricity consumption on income and house size there is a physical 

constraint in the population in that families with higher incomes generally have larger 

homes than families with lower incomes. 

3. Model specification, for example, adding polynomial terms to a regression model, 

especially when the range of the X variable is small. 

4. An overdetermined model. This happens when the model has more explanatory variables 

than the number of observations. This could happen in medical research where there may 

be a small number of patients about whom information is collected on a large number of 

variables. 

5. An additional reason for multicollinearity, especially in time series data, may be that the 

regressors included in the model share a common trend, that is, they all increase or 

decrease over time. Thus, in the regression of consumption expenditure on income, 

wealth, and population, the regressors income, wealth, and population may all be growing 

over time at more or less the same rate, leading to collinearity among these variables. 

 

  

cc))    CCoonnsseeqquueenncceess   ooff  MMuullttiiccoolllliinneeaarriittyy  

  

ii))   TThhee   ccaassee   ooff  ppeerrffeecctt  mmuullttiiccoolllliinneeaarriittyy  

  

consider a three-variable regression model in  deviation form 

iiii uxxy ˆˆˆ
2211  

  

  

FFrroomm  wwhhiicchh  iitt  ccaann  bbee  oobbttaaiinneedd  
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SSuuppppoossee  ii kXX 12  wwhheerree  kk   iiss  nnoonn  zzeerroo  ccoonnssttaanntt ..
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wwhhiicchh  iiss  aann  iinnddeetteerrmmiinnaattee  eexxpprreessssiioonn..  IItt  ccaann  aallssoo  bbee  sshhoowwnn  tthhaatt  tthhee  eexxpprreessssiioonn  ffoorr  2



 iiss  

iinnddeetteerrmmiinnaa ttee..  

Recall that 
1



 gives the rate of change in the average value of Y as X1 changes by a unit, holding 

X2 constant.  But if X1 and X2 are perfectly collinear, there is no way X2 can be kept constant: As 

X1 changes, so does X2 by the factor k. What it means, then, is that there is no way of 

disentangling the separate influences of X1 and X2 from the given sample. 

 

Moreover, for a three variable model: 
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SSuubbssttiittuutt iinngg    

ii kXX 12 
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WWhhiicchh  sshhoowwss  tthhaatt  tthhee  vvaarriiaanncceess  ooff  tthhee  eessttiimmaatteess  bbeeccoommee  iinnffiinniittee..

  

  

Therefore, in the case of perfect multicollinearity, the regression coefficients remain 

indeterminate and their standard errors are infinite. 

 

ii) High but imperfect multicollinearity 

 

The perfect multicollinearity situation is a pathological extreme. Generally, there is no exact 

linear relationship among the X variables, especially in data involving economic time series.  

 

Suppose in the three variable model 

ii kXX 12  ++  vvii    wwhheerree  kk              vv ii    iiss  tthhee  ssttoocchhaassttiicc  eerrrroorr  tteerrmm  ssuucchh  tthhaatt    01 iivx ..  

In this case, it is poosiible to estimate the coefficients. HHoowweevveerr,,  iinn  tthhee  ccaassee  ooff  nneeaarr  oorr  hhiigghh  

mmuulltt iiccoo llll iinneeaa rr iittyy,,  oonnee  iiss  lliikkeellyy  ttoo  eennccoouunntteerr  tthhee  ffoolllloowwiinngg  ccoonnsseeqquueenncceess :: 

11..  AAlltthhoouugghh  BBLLUUEE,,  tthhee  OOLLSS  eessttiimmaattoorrss  hhaavvee  llaarrggee  vvaarriiaanncceess  aanndd  ccoovvaarriiaanncceess,,  mmaakkiinngg  

pprreecciissee  eessttiimmaatt iioonn  ddiiffffiiccuulltt..  FFoorr  eexxaammppllee,,  iinn  aa  tthhrreeee  vvaarriiaabbllee  lliinneeaarr  rreeggrreessssiioonn,,    
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VVaarr(( 1̂ )) 
 ==  

   2

12

2

1

2

1 rx i



  
IItt  iiss  aappppaarreenntt  ffrroomm  tthhee  aabboovvee  ffoorrmmuullaa  tthhaatt  aass  rr1122   ((wwhhiicchh  iiss  tthhee  ccooeeffffiicciieenntt  ooff  

ccoorrrreellaattiioonn  bbeettwweeeenn  XX11   aanndd  XX22))  tteennddss  ttoowwaarrddss  11,,  tthhaatt  iiss,,  aass  ccoolllliinneeaarriittyy  iinnccrreeaasseess,,  tthhee  

vvaarriiaannccee  ooff  tthhee  eessttiimmaattoorr  iinnccrreeaasseess..  TThhee  ssaammee  hhoollddss  ffoorr  VVaarr(( 2̂ ))  aanndd  tthhee  ccoovv  (( 1̂ ,, 2̂ ))..  

  

22..  BBeeccaauussee  ooff  ccoonnsseeqquueennccee  ((11)),,  tthhee  ccoonnffiiddeennccee  iinntteerrvvaallss  tteenndd  ttoo  bbee  mmuucchh  wwiiddeerr,,  lleeaaddiinngg  ttoo  

tthhee  aacccceeppttaannccee  ooff  tthhee  ““ZZeerroo  nnuullll  hhyyppootthheessiiss””  ((ii..ee..,,  tthhee  ttrruuee  ppooppuullaattiioonn  ccooeeffffiicc iieenntt  iiss  zzeerroo))..    

33..  BBeeccaauussee  ooff  ccoonnsseeqquueennccee  ((11)),,  tthhee  tt-- rraattiioo  ooff  oonnee  oorr  mmoorree  ccooeeffffiicciieennttss  tteennddss  ttoo  bbee  

ssttaattiissttiiccaa llllyy  iinnssiiggnniiff iiccaanntt..    

44..  AAlltthhoouugghh  tthhee  tt-- rraattiioo  ooff  oonnee  oorr  mmoorree  ccooeeffffiicciieennttss  iiss  ssttaattiissttiiccaallllyy  iinnssiiggnniiffiiccaanntt,,  RR
22
,,  tthhee  

oovveerraallll  mmeeaassuurree  ooff  ggooooddnneessss  ooff  ffiitt,,  ccaann  bbee  vveerryy  hhiigghh..    

55..  TThhee  OOLLSS  eessttiimmaattoorrss  aanndd  tthheeiirr  ssttaannddaarrdd  eerrrroorrss  ccaann  bbee  sseennssiittiivvee  ttoo  ssmmaallll  cchhaannggeess  iinn  tthhee  

ddaattaa..  

    

dd))    DDeetteeccttiinngg  MMuullttiiccoolllliinneeaarriittyy  

  

NNoottee  tthhaatt  mmuullttiiccoolllliinneeaarriittyy  iiss  aa  qquueesstt iioonn  ooff   ddeeggrreeee  aanndd  nnoott   ooff   aa  kk iinndd..  IItt  sshhoouulldd  aallssoo  bbee  nnootteedd  tthhaatt  

ssiinnccee  mmuullttiiccoolllliinneeaarriittyy  rreeffeerrss  ttoo  tthhee  ccoonnddiittiioonn  ooff  tthhee  eexxppllaannaattoorryy  vvaarriiaabblleess  tthhaatt  aarree  aassssuummeedd  ttoo  bbee  

nnoonnssttoocchhaassttiicc,,  iitt  iiss  aa  ffeeaattuurree  ooff   tthhee  ssaammppllee  aanndd  nnoott   ooff   tthhee  ppooppuullaatt iioonn..  TThheerreeffoorree,,  wwee  ddoo  nnoott  ““tteesstt  

ffoorr  mmuullttiiccoolllliinneeaarriittyy””  bbuutt  ccaann,,  iiff  wwee  wwiisshh,,  mmeeaassuurree  iittss  ddeeggrreeee  iinn  aannyy  ppaarrttiiccuullaarr  ssaammppllee..  TThhee  

ffoolllloowwiinngg  aarree  ssoommee  rruulleess  ooff  tthhuummbb  aanndd  ffoorrmmaall  rruulleess  ttoo  ddeetteeccttiioonn  ooff  mmuulltt iiccoo ll lliinneeaarr iittyy..    

  

ii))   HHiigghh  RR
22
  bbuutt  ffeeww  ss iiggnniiffiiccaanntt  tt--rraattiiooss ..  IIff  RR

22
  iiss  hhiigghh,,  ssaayy  iinn  eexxcceessss  ooff  00..88,,  tthhee  FF-- tteesstt  iinn  mmoosstt  

ccaasseess  wwiillll  rreejjeecctt  tthhee  hhyyppootthheessiiss  tthhaatt  tthhee  ppaarrttiiaall  ssllooppee  ccooeeffffiicciieennttss  aarree  ssiimmuullttaanneeoouussllyy  eeqquuaall  ttoo  

zzeerroo,,  bbuutt  tthhee  iinnddiivviidduuaall  tt  tteessttss  wwiillll  sshhooww  tthhaatt  nnoonnee  oorr  vveerryy  ffeeww  ooff  tthhee  ppaarrttiiaall  ssllooppee  

ccooeeffffiicc iieennttss  aarree  ssttaattiissttiiccaa ll llyy  ddiiffffeerreenntt  ffrroomm  zzeerroo..    

  

iiii))   HHiigghh  ppaaiirr--wwiissee   ccoorrrree llaattiioonn  aammoonngg  rreeggrreessssoorrss ..  IIff  tthhee  ppaaiirr--wwiissee  ccoorrrreellaattiioonn  ccooeeffffiicciieenntt  

aammoonngg  ttwwoo  rreeggrreessssoorrss  iiss  hhiigghh,,  ssaayy  iinn  eexxcceessss  ooff  00..88,,  tthheenn  mmuullttiiccoolllliinneeaarriittyy  iiss  aa  sseerriioouuss  

pprroobblleemm..    

  

iiiiii ))     AAuuxxiilliiaarryy  RReeggrreessss iioonn..  SSiinnccee  mmuullttiiccoolllliinneeaarriittyy  aarriisseess  bbeeccaauussee  oonnee  oorr  mmoorree  ooff  tthhee  rreeggrreessssoorrss  

aarree  eexxaacctt  oorr  aapppprrooxxiimmaatteellyy  lliinneeaarr  ccoommbbiinnaattiioonnss  ooff  tthhee  ootthheerr  rreeggrreessssoorrss,,  oonnee  wwaayy  ooff  ffiinnddiinngg  

oouutt  wwhhiicchh  XX  vvaarriiaabbllee  iiss  rreellaatteedd  ttoo  ootthheerr  XX  vvaarriiaabblleess  iiss  ttoo  rreeggrreessss  eeaacchh  XXii  oonn  tthhee  rreemmaaiinniinngg  XX  

vvaarriiaabblleess  aanndd  ccoommppuuttee  tthhee  ccoorrrreessppoonnddiinngg  RR
22
..  AAss  aa  rruullee  ooff  tthhuummbb,,  mmuullttiiccoolllliinneeaarriittyy  mmaayy  bbee  aa  

ttrroouubblleessoommee  pprroobblleemm  oonnllyy  iiff  tthhee  RR
22
  oobbttaaiinneedd  ffrroomm  aann  aauuxxiilliiaarryy  rreeggrreessssiioonn  iiss  ggrreeaatteerr  tthhaann  tthhee  

oovveerraallll  RR
22  

((tthhaatt  oobbttaaiinneedd  ffrroomm  tthhee  rreeggrreessssiioonn  ooff  YY  oonn  aallll  tthhee  rreeggrreessssoorrss))..  

  

iivv))   TToolleerraannccee ((TTOOLL))  aanndd  vvaarriiaannccee   iinnffllaattiioonn  ffaaccttoorr  ((VVIIFF))  
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FFoorr  aa  lliinneeaarr  rreeggrreessssiioonn  wwiitthh  ttwwoo  eexxppllaannaattoorryy  vvaarriiaabblleess((XX11   aanndd  XX22))  

          
)1(

1
2

12r
VIF


   

VVIIFF  sshhoowwss  hhooww  tthhee  vvaarriiaannccee  ooff  aann  eessttiimmaattoorr  iiss  iinnffllaatteedd  bbyy  tthhee  pprreesseennccee  ooff  mmuullttiiccoolllliinneeaarriittyy..  AAss  
2

12r   aapppprrooaacchheess  11,,  tthhee  VVIIFF  aapppprrooaacchheess  iinnffiinniittyy..  TThhaatt  iiss,,  aass  tthhee  eexxtteenntt  ooff  ccoolllliinneeaarriittyy  iinnccrreeaasseess,,  tthhee  

vvaarriiaannccee  ooff  aann  eessttiimmaattoorr  iinnccrreeaasseess,,  aanndd  iinn  tthhee  lliimmiitt  iitt  ccaann  bbeeccoommee  iinnffiinniittee..  IIff  tthheerree  iiss  nnoo  

ccoolllliinneeaarr iittyy  bbeettwweeeenn  XX11   aanndd  XX22 ,,  VVIIFF  wwiillll  bbee  11..  
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sshhoowwss  tthhaatt   tthhee  vvaarriiaanncceess  ooff   1̂   aanndd  2̂ aarree  ddiirreecctt llyy  pprrooppoorrtt iioonnaall  ttoo  tthhee  VVIIFF..  

 

Similarly, for  k-variable model 

  )1(
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WWhheerree  i̂ ==(estimated) partial regression coefficient of regressor Xi 

             2

iR ==   R2 in the regression of Xi on the remaining regressions 

 

  IItt  iiss  aallssoo  ppoossssiibbllee  ttoo  uussee  TTOOLL  aass  aa  mmeeaassuurree  ooff  mmuullttiiccoolllliinneeaarriittyy  iinn  vviieeww  ooff  iittss  iinnttiimmaattee  ccoonnnneeccttiioonn  

wwiitthh  VVIIFF..  

i

i
VIF

TOL
1

 )1( 2
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TThhee  llaarrggeerr  tthhee  vvaalluuee  ooff  tthhee  VVIIFFii,,  tthhee  mmoorree  ““ttrroouubblleessoommee””  oorr  ccoolllliinneeaarr  tthhee  vvaarriiaabbllee  XXii..  AAss  aa  rruullee  ooff  

tthhuummbb,,  iiff  tthhee  VVIIFF  ooff  aa  vvaarriiaabbllee  eexxcceeeeddss  1100,,  which will happen if 2

iR exceeds 0.90, that variable is 

said to be highly collinear.   IInn  ootthheerr  wwoorrddss,,  tthhee  cclloosseerr  iiss  TTOOLLii  ttoo  zzeerroo,,  tthhee  ggrreeaatteerr  tthhee  ddeeggrreeee  ooff  

ccoolllliinneeaarriittyy  ooff  tthhaatt  vvaarriiaabbllee  wwiitthh  tthhee  ootthheerr  rreeggrreessssoorrss..  OOnn  tthhee  ootthheerr  hhaanndd,,  tthhee  cclloosseerr  TTOOLLii  iiss  ttoo  11,,  

tthhee  ggrreeaatteerr  tthhee  eevviiddeennccee  tthhaatt  XXii  iiss  nnoott  ccoolllliinneeaarr  wwiitthh  tthhee  ootthheerr  rreeggrreessssoorrss.. 

  

ee))    RReemmeeddiiaall   MMeeaassuurreess  

  

TThhee  eexxiisstteennccee  ooff  mmuullttiiccoolllliinneeaarriittyy  iinn  aa  ddaattaa  sseett  ddooeess  nnoott  nneecceessssaarriillyy  mmeeaann  tthhaatt  tthhee  ccooeeffffiicciieenntt  

eessttiimmaattoorrss  iinn  wwhhiicchh  tthhee  rreesseeaarrcchheerr  iiss  iinntteerreesstteedd  hhaavvee  uunnaacccceeppttaabbllyy  hhiigghh  vvaarriiaannccee..  BBeeccaauussee  

mmuullttiiccoolllliinneeaarriittyy  iiss  eesssseennttiiaallllyy  aa  ssaammppllee  pprroobblleemm  tthheerree  aarree  nnoo  iinnffaalllliibbllee  gguuiiddeess..  HHoowweevveerr  oonnee  ccaann  
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ttrryy  tthhee  ffoolllloowwiinngg  rruulleess  ooff  tthhuummbb,,  tthhee  ssuucccceessss  ooff  wwhhiicchh  ddeeppeennddss  oonn  tthhee  sseevveerriittyy  ooff  tthhee  ccoolllliinneeaarriittyy  

pprroobblleemm..    

aa))  OObbttaaiinn  mmoorree  ddaattaa::  --   BBeeccaauussee  tthhee  mmuullttiiccoolllliinneeaarriittyy  iiss  eesssseennttiiaallllyy  aa  ddaattaa  pprroobblleemm,,  aaddddiittiioonnaall  

ddaattaa  tthhaatt  ddoo  nnoott  ccoonnttaaiinn  tthhee  mmuullttiiccoolllliinneeaarriittyy  ffeeaattuurree  ccoouulldd  ssoollvvee  tthhee  pprroobblleemm..  FFoorr  eexxaammppllee,,  

iinn  tthhee  tthhrreeee  vvaarriiaabbllee  mmooddeell  wwee  ssaaww  tthhaatt    

VVaarr(( 1̂ ))  ==  
  )1( 2

12

2

1

2

rx i


  

NNooww  aass  tthhee  ssaammppllee  ssiizzee  iinnccrreeaasseess,,  xx11ii
22
  wwiillll  ggeenneerraallllyy  iinnccrreeaasseess..  TThhuuss,,  ffoorr  aa  ggiivveenn  rr1122 ,,  tthhee  

vvaarriiaannccee  ooff  1̂   ddeeccrreeaasseess  ((tthhuuss,,  tthhee  ssttaannddaarrdd  eerrrroorr  ddeeccrreeaasseess)),,  wwhhiicchh  wwiillll  eennaabbllee  uuss  ttoo  eessttiimmaattee  11   

mmoorree  pprreecciisseellyy..    

  

bb))  TTrraannssffoorrmmaatt iioonn  ooff  vvaarriiaabblleess::  --   IInn  ttiimmee  sseerriieess  aannaallyyssiiss,,  oonnee  rreeaassoonn  ffoorr  hhiigghh  mmuullttiiccoolllliinneeaarriittyy  

bbeettwweeeenn  ttwwoo  vvaarriiaabblleess  iiss  tthhaatt  oovveerr  ttiimmee  bbootthh  vvaarriiaabblleess  tteenndd  ttoo  mmoovvee  iinn  tthhee  ssaammee  ddiirreeccttiioonn..  

OOnnee  wwaayy  ooff  mmiinniimmiizziinngg  tthheenn  ddeeppeennddeennccee  iiss  ttoo  ttrraannssffoorrmm  tthhee  vvaarriiaabblleess..    

            SSuuppppoossee  YYtt   ==  00   ++  11XX11tt   ++  22XX22tt   

TThhiiss  rreellaattiioonn  mmuusstt  aallssoo  hhoolldd  aatt  ttiimmee  tt--11  bbeeccaauussee  tthhee  oorriiggiinn  ooff  ttiimmee  iiss  aarrbbiittrraarryy  aannyywwaayy..  

TThheerreeffoorree  wwee  hhaavvee    

YYtt--11   ==  00   ++  11XX11tt--11   ++  22XX22tt--11   ++  UUtt--11 ..    

SSuubbttrraaccttiinngg  tthhiiss  ffrroomm  tthhee  aabboovvee  ggiivveess  

                        YYtt   ––  YYtt--11   ==  11((XX11tt   ––  XX11tt--11))  ++  22((XX22tt   ––  XX22tt--11))  ++  VVtt   

TThhiiss  iiss  kknnoowwnn  aass  tthhee  ff iirrsstt   ddiiff ffeerreennccee  ffoorrmm  bbeeccaauussee  wwee  rruunn  tthhee  rreeggrreessssiioonn,,  nnoott  oonn  tthhee  oorriiggiinnaall  

vvaarriiaabblleess,,  bbuutt  oonn  tthhee  ddiiffffeerreennccee  ooff  ssuucccceessssiivvee  vvaalluueess  ooff  tthhee  vvaarriiaabblleess..  TThhee  ffiirrsstt  ddiiffffeerreennccee  

rreeggrreessssiioonn  mmooddeell  oofftteenn  rreedduucceess  tthhee  sseevveerriittyy  ooff  mmuullttiiccoolllliinneeaarriittyy..  AAlltthhoouugghh  tthhee  lleevveellss  ooff  XX11   aanndd  

XX22   mmaayy  bbee  hhiigghhllyy  ccoorrrreellaatteedd,,  tthheerree  iiss  nnoo  aa  pprriioorrii  rreeaassoonn  ttoo  bbeelliieevvee  tthhaatt  tthheeiirr  ddiiffffeerreennccee  wwiillll  aallssoo  

bbee  hhiigghhllyy  ccoorrrreellaatteedd..  

  

Another commonly used transformation in practice is the ratio transformation. 

Consider the model:  

                    YYtt   ==  00   ++  11XX11tt   ++  22XX22tt ++uutt   

where Y is consumption expenditure in real dollars, X1 is GDP, and X2 is total population. Since 

GDP and population grow over time, they are likely to be correlated. One “solution” to this 

problem is to express the model on a per capita basis, that is, 

)()()
1

(
2

2

2

1
1

2

0

2 t

t

t

t

tt

t

X

u

X

X

XX

Y
   

Such a transformation may reduce collinearity in the original variables. 

 

cc))  FFoorrmmaall iizzee  rreellaatt iioonnsshhiippss  aammoonngg  rreeggrreessssoorrss::  --   IIff  iitt  iiss  bbeelliieevveedd  tthhaatt  tthhee  mmuullttiiccoolllliinneeaarriittyy  

aarriisseess  nnoott  ffrroomm  aann  uunnffoorrttuunnaattee  ddaattaa  sseett  bbuutt  ffrroomm  aann  aaccttuuaall  aapppprrooxxiimmaattee  lliinneeaarr  rreellaattiioonnsshhiipp  
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aammoonngg  ssoommee  ooff  tthhee  rreeggrreessssoorrss,,  tthhiiss  rreellaattiioonnsshhiipp  ccoouulldd  bbee  ffoorrmmaalliizzeedd  aanndd  tthhee  eessttiimmaattiioonn  

ccoouulldd  tthheenn  pprroocceeeedd  iinn  tthhee  ccoonntteexxtt  ooff  aa  ssiimmuullttaanneeoouuss  eeqquuaattiioonn  eessttiimmaatt iioonn  pprroobblleemm..    

dd))  Combining cross-sectional and time series data: that is, the combination of cross 

sectional  and time-series data, known as pooling the data.   

ee))  DDrroopp  aa  vvaarriiaabbllee::  --   wwhheenn  ffaacceedd  wwiitthh  sseevveerree  mmuullttiiccoolllliinneeaarriittyy,,  oonnee  ooff  tthhee  ““ssiimmpplleesstt””  tthhiinngg  ttoo  

ddoo  iiss  ttoo  ddrroopp  oonnee  ooff  tthhee  ccoolllliinneeaarr  vvaarriiaabblleess..  BBuutt  nnoottee  tthhaatt  iinn  ddrrooppppiinngg  aa  vvaarriiaabbllee  ffrroomm  tthhee  

mmooddeell  wwee  mmaayy  bbee  ccoommmmiittttiinngg  aa  ssppeecciiffiiccaattiioonn  bbiiaass  oorr  ssppeecciiffiiccaattiioonn  eerrrroorr..  SSppeecciiffiiccaattiioonn  bbiiaass  

aarriisseess  ffrroomm  iinnccoorrrreecctt  ssppeecciiffiiccaattiioonn  ooff  tthhee  mmooddeell  uusseedd  iinn  tthhee  aannaallyyssiiss..  TThhuuss,,  iiff  eeccoonnoommiicc  

tthheeoorryy  rreeqquuiirreess  ssoommee  vvaarriiaabblleess  ttoo  bbee  iinncclluuddeedd  iinn  tthhee  mmooddeell,,  ddrrooppppiinngg  oonnee  ooff  tthhee  vvaarriiaabblleess  

dduuee  ttoo  mmuullttiiccoo ll lliinneeaarr iittyy  pprroobblleemm  wwoouulldd  ccoonnssttiittuuttee  ssppeecciiffiiccaatt iioonn  bbiiaass..    
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55..22  HHEETTEERROOSSCCEEDDAASSTTIICCIITTYY  

AA))  TThhee  NNaattuurree  ooff  HHeetteerroosscceeddaasstt iiccii ttyy  

TThhee  aassssuummppttiioonn  ooff  hhoommoosscceeddaassttiicciittyy  ((oorr  ccoonnssttaanntt  vvaarriiaannccee))  aabboouutt  tthhee  rraannddoomm  vvaarriiaabbllee  uu  iiss  tthhaatt  iittss  

pprroobbaabbiilliittyy  ddiissttrriibbuuttiioonn  rreemmaaiinnss  tthhee  ssaammee  oovveerr  aallll  oobbsseerrvvaattiioonnss  ooff  XX,,  aanndd  iinn  ppaarrttiiccuullaarr  tthhaatt  tthhee  

vvaarriiaannccee  ooff  eeaacchh  UUii  iiss  tthhee  ssaammee  ffoorr  aallll  vvaalluueess  ooff  tthhee  eexxppllaannaattoorryy  vvaarriiaabbllee..  TThhaatt  iiss,,  tthhee  vvaarriiaattiioonn  ooff  

eeaacchh  uuii  aarroouunndd  iittss  zzeerroo  mmeeaann  ddooeess  nnoott  ddeeppeenndd  oonn  tthhee  vvaalluuee  ooff  XX..  SSyymmbboolliiccaa llllyy  wwee  hhaavvee    

  VVaarr((uuii))  ==  EE{{((uuii  ––  EE((uuii))}}
22
  ==  EE((uuii

22
))  ==  

22  

  

IIff  tthhee  aabboovvee  ccoonnddiittiioonn  iiss  nnoott  ssaattiissffiieedd  iinn  aannyy  ppaarrttiiccuullaarr  ccaassee,,  wwee  ssaayy  tthhaatt  tthhee  uuii‟‟ss  aarree  

hheettrroosscceeddaassttiicc..  TThhaatt  iiss,,VVaarr  ((uuii))  ==  ii
22
..    

  

TThhee  pprroobblleemm  ooff  hheetteerroosscceeddaassttiicciittyy  iiss  mmoorree  sseerriioouuss  iinn  ccrroossss  sseeccttiioonn  ddaattaa  rraatthheerr  tthhaann  ttiimmee  sseerriieess  

ddaattaa..  SSuuppppoossee  wwee  hhaavvee  aa  ccrroossss--sseeccttiioonn  ssaammppllee  ooff  ffaammiillyy  bbuuddggeett  ffrroomm  wwhhiicchh  wwee  wwaanntt  ttoo  mmeeaassuurree  

tthhee  ssaavviinnggss  ffuunnccttiioonn..  TThhaatt  mmeeaannss  SSaavviinngg  ==  ff((iinnccoommee))..  IInn  tthhiiss  ccaassee,,  tthhee  aassssuummppttiioonn  ooff  ccoonnssttaanntt  

vvaarriiaannccee  ooff  tthhee  uuii‟‟ss  iiss  nnoott  aapppprroopprriiaattee,,  bbeeccaauussee  hhiigghh-- iinnccoommee  ffaammiilliieess  sshhooww  aa  mmuucchh  ggrreeaatteerr  

vvaarriiaabbiilliittyy  iinn  tthheeiirr  ssaavviinngg  bbeehhaavviioorr  tthhaann  ddoo  llooww  iinnccoommee  ffaammiilliieess..  FFaammiilliieess  wwiitthh  hhiigghh  iinnccoommee  tteenndd  

ttoo  ssttiicckk  ttoo  aa  cceerrttaaiinn  ssttaannddaarrdd  ooff  lliivviinngg  aanndd  wwhheenn  tthheeiirr  iinnccoommee  ffaallllss  tthheeyy  ccuutt  ddoowwnn  tthheeiirr  ssaavviinnggss  

rraatthheerr  tthhaann  tthheeiirr  ccoonnssuummppttiioonn  eexxppeennddiittuurree..  BBuutt  tthhiiss  iiss  nnoott  tthhee  ccaassee  iinn  llooww  iinnccoommee  ffaammiilliieess..  

HHeennccee,,  tthhee  vvaarriiaannccee  ooff  uuii‟‟ss  iinnccrreeaassee  aass  iinnccoommee  iinnccrreeaasseess..  

BB))  CCaauusseess  ooff  HHeetteerroosscceeddaasstt iiccii ttyy    

HHeetteerroosscceeddaassttiicc iittyy  ccaann  aarriissee  aass  aa  rreessuulltt  ooff  sseevveerraall  ccaasseess..    

 TThhee   pprreesseennccee   ooff  oouuttlliieerrss :: An outlying observation, or outlier, is an observation that is 

much different (either very small or very large) in relation to the observations in the 

sample. More precisely, an outlier is an observation from a different population to that 

generating the remaining sample observations. The inclusion or exclusion of such an 

observation, especially if the sample size is small, can substantially alter the results of 

regression analysis..   

   IInnccoorrrreecctt  ssppeecciiffiiccaattiioonn  ooff  tthhee   rreeggrreessss iioonn  mmooddee ll::  VVeerryy  oofftteenn  wwhhaatt  llooookkss  lliikkee  

hheetteerroosscceeddaassttiicciittyy  mmaayy  bbee  dduuee  ttoo  tthhee  ffaacctt  tthhaatt  ssoommee  iimmppoorrttaanntt  vvaarriiaabblleess  aarree  oommiitttteedd  ffrroomm  

tthhee  mmooddeell..  IInn  ssuucchh  ssiittuuaattiioonn  tthhee  rreessiidduuaallss  oobbttaaiinneedd  ffrroomm  tthhee  rreeggrreessssiioonn  mmaayy  ggiivvee  tthhee  

ddiissttiinncctt  iimmpprreessssiioonn  tthhaatt  tthhee  eerrrroorr  vvaarriiaannccee  mmaayy  nnoott  bbee  ccoonnssttaanntt..  BBuutt  iiff  tthhee  oommiitttteedd  

vvaarriiaabblleess  aarree  iinncclluuddeedd  iinn  tthhee  mmooddeell,,  tthhee  iimmpprreessssiioo nn  mmaayy  ddiissaappppeeaarr..   

 Skewness in the distribution of one or more regressors included in the model: 

Examples are economic variables such as income, wealth, and education. It is well 

known that the distribution of income and wealth in most societies is uneven, with the 

bulk of the income and wealth being owned by a few at the top. 

 Incorrect data transformation (e.g., ratio or first difference transformations). 

 Incorrect functional form (e.g., linear versus log–linear models). 
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IInn  ssuummmmaarryy,,  wwee  mmaayy  ssaayy  tthhaatt  oonn  aa  pprriioorrii  ggrroouunnddss  tthheerree  aarree  rreeaassoonnss  ttoo  bbeelliieevvee  tthhaatt  tthhee  aassssuummppttiioonn  

ooff  hhoommoosscceeddaassttiicciittyy  mmaayy  oofftteenn  bbee  vviioollaatteedd  iinn  pprraaccttiiccee..  IItt  iiss  tthheerreeffoorree,,  iimmppoorrttaanntt  ttoo  eexxaammiinnee  tthhee  

ccoonnsseeqquueenncceess  ooff  hheetteerroosscceeddaattiicc iittyy..    

CC))  TThhee  ccoonnsseeqquueennccee  ooff  HHeetteerroosscceeddaasstt iiccii ttyy  

IIff  tthhee  aassssuummppttiioonn  ooff  hhoommoosscceeddaassttiicc  ddiissttuurrbbaannccee  iiss  nnoott  ffuullffiilllleedd  wwee  hhaavvee  tthhee  ffoolllloowwiinngg  

ccoonnsseeqquueenncceess::    

i)   Heteroscedasticity does not destroy the unbiasedness and consistency properties of 

OLS estimators. 

ii) TThhee  OOLLSS  eessttiimmaatteess  ddoo  nnoott  hhaavvee  tthhee  mmiinniimmuumm  vvaarriiaannccee  pprrooppeerrttyy  iinn  tthhee  ccllaassss  ooff  

uunnbbiiaasseedd  eessttiimmaattoorrss..  That is, they are not BLUE. 

iii)  In the presence of heteroscedasticity, the variances of OLS estimators are not 

provided by the usual OLS formulas. But if we persist in using the usual OLS 

formulas, the t and F tests based on them can be highly misleading, resulting in 

erroneous conclusions. 

 

DD))  DDeetteeccttiinngg  tthhee   pprroobblleemm  ooff  HHeetteerroosscceeddaassttiicciittyy  

  

As in the case of multicollinearity, there are no hard-and-fast rules for detecting 

heteroscedasticity, only a few rules of thumb. 

 

ii))   IInnffoorrmmaall  mmeetthhoodd  

NNaattuurree   ooff  tthhee   pprroobblleemm  

As a matter of fact, in cross-sectional data involving heterogeneous units, heteroscedasticity may 

be the rule rather than the exception. For example, in a cross-sectional analysis involving the 

investment expenditure in relation to sales, rate of interest, etc., heteroscedasticity is generally 

expected if small, medium and large-size firms are sampled together.    

 

VViissuuaall  IInnssppeeccttiioonn  ooff  RReess iidduuaallss   //  ggrraapphhiiccaall  mmeetthhoodd  

TThhiiss  iiss  aa  ppoossttmmoorrtteemm  aapppprrooaacchh  wwhheenn  tthheerree  iiss  nnoo  aa  pprriioorrii  iinnffoorrmmaattiioonn  aass  tthhee  eexxiisstteennccee  ooff  

hheetteerroossccddaassttiicciittyy..  HHeennccee,,  tthhiiss  aapppprrooaacchh  eexxaammiinneess  wwhheetthheerr  tthhee  eerrrroorr  tteerrmm  ddeeppiiccttss  ssoommee  ssyysstteemmaattiicc  

ppaatttteerrnn  oorr  nnoott..  TToo  tthhiiss  eenndd,,  tthhee  rreessiidduuaallss  aarree  ppllootttteedd  aaggaaiinnsstt  tthhee  ddeeppeennddeenntt  oorr  iinnddeeppeennddeenntt  

vvaarriiaabbllee  ttoo  wwhhiicchh  iitt  iiss  ssuussppeecctteedd  tthhee  ddiissttuurrbbaannccee  vvaarriiaannccee  iiss  rreellaatteedd..  AAlltthhoouugghh  
2ˆ
iu   aarree  nnoott  tthhee  

ssaammee  tthhiinngg  aass  uuii
22
,,  tthheeyy  ccaann  bbee  uusseedd  aass  pprrooxxiieess  eessppeecciiaallllyy  iiff  tthhee  ssaammppllee  ssiizzee  iiss  ssuuffffiicc iieenntt llyy  llaarrggee..    

  

iiii))   FFoorrmmaall  mmeetthhooddss   

  

PPaarrkk  TTeesstt  
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PPaarrkk  ffoorrmmaalliizzeess  tthhee  ggrraapphhiiccaall  mmeetthhoodd  bbyy  ssuuggggeessttiinngg  tthhaatt  ii
22
  iiss  ssoommee  ffuunnccttiioonn  ooff  tthhee  eexxppllaannaattoorryy  

vvaarriiaabbllee  XXii  ..  

  

TThhee  ffuunnccttiioonnaa ll  ffoorrmm  hhee  ssuuggggeessttss  iiss  

  VVaarr((uuii))  ==  ii
22
  ==  

22
XXii


ee

vvii
        

wwhhiicchh  ccoouulldd  bbee  wwrriitttteenn  iinn  llooggaarriitthhmmiicc  ffoorrmm  aass                                    

                      llnnii
22
    ==    llnn

22
  ++   llnnXXii  ++  vvii                                          

  wwhheerree  vvii  iiss  tthhee  ssttoocchhaassttiicc  ddiissttuurrbbaannccee  ffoorrmm..  

  

SSiinnccee  ii
22
  iiss  ggeenneerraallllyy  nnoott  kknnoowwnn,,  ppaarrkk  ssuuggggeessttss  uussiinngg  

2ˆ
iu   aass  aa  pprrooxxyy  aanndd  rruunnnniinngg  tthhee  ffoolllloowwiinngg  

rreeggrreessssiioonn::  

                llnn
2ˆ
iu   ==  llnn

22
  ++   llnnXXii  ++  vvii              

                                            ==        αα  ++   llnnXXii    ++    vvii                                          

IIff     ttuurrnnss  oouutt  ttoo  bbee  ssttaattiissttiiccaallllyy  ssiiggnniiffiiccaanntt,,  iitt  wwoouulldd  ssuuggggeesstt  tthhaatt  hheetteerroosscceeddaassttiicciittyy  iiss  pprreesseenntt  iinn  

tthhee  ddaattaa..  IIff  iitt  ttuurrnnss  oouutt  ttoo  bbee  iinnssiiggnniiffiiccaanntt,,  wwee  mmaayy  aacccceepptt  tthhee  aassssuummppttiioonn  ooff  hhoommoosscceeddaassttiicciittyy..  

TThhee  ppaarrkk  tteesstt  iiss  tthhuuss  aa  ttwwoo--ssttaaggee  pprroocceedduurree..  IInn  tthhee  ffiirrsstt  ssttaaggee  wwee  rruunn  tthhee  OOLLSS  rreeggrreessssiioonn  

ddiissrreeggaarrddiinngg  tthhee  hheetteerroosscceeddaassttiicciittyy  qquueessttiioonn..  WWee  oobbttaaiinn  iû ffrroomm  tthhiiss  rreeggrreessssiioonn,,  aanndd  tthheenn  iinn  tthhee  

sseeccoonndd  ssttaaggee  wwee  rruunn  tthhee  rreeggrreessssiioonn  llnn
2ˆ
iu   ==  llnn

22
  ++   llnnXXii  ++  VVii..  

  

EExxaammppllee ::  CCoonnssiiddeerr  aa  rreellaattiioonnsshhiipp  bbeettwweeeenn  CCoommppeennssaattiioonn  ((YY))  aanndd  PPrroodduuccttiivviittyy  ((XX))..    TToo  iilllluussttrraattee  

tthhee  PPaarrkk  aapppprrooaacchh,,  tthhee  ffoolllloowwiinngg  rreeggrreessssiioonn  ffuunncctt iioonn  iiss  uusseedd..  

  

                                    YYii   ==  ββ00   ++  ββ11XXii  ++  uuii  

ŶŶii   ==    11999922..3355  ++  00..2233  XXii       

  ss ..ee   ==  ((993366..4488))        ((00..009999))    

    tt    ==      ((22..1133))                ((22..3333))                            rr
22
  ==  00..4444    

  

SSuuppppoossee  tthhaatt  tthhee  rreessiidduuaallss  oobbttaaiinneedd  ffrroomm  tthhee  aabboovvee  rreeggrreessssiioonn  wweerree  rreeggrreesssseedd  oonn  XXii  ggiivviinngg  tthhee  

ffoolllloowwiinngg  rreessuullttss..  

  

llnn
2ˆ
iu   ==  3355..8822  --  22..8811  llnnXXii            

  ss..ee        ==    ((3388..3322))      ((44..2222))  

      tt          ==    ((00..9933))          ((--00..6677))                      rr
22
  ==  00..4466  
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IInn  tthhee  aabboovvee  rreessuulltt,,  tthhee  ccooeeffffiicciieenntt  ooff  llnnXXii  iiss  nnoott  ssiiggnniiffiiccaanntt..    TThhaatt  iiss,,  tthheerree  iiss  nnoo  ssttaattiissttiiccaallllyy  

ssiiggnniiffiiccaanntt  rreellaattiioonnsshhiipp  bbeettwweeeenn  tthhee  ttwwoo  vvaarriiaabblleess..    FFoolllloowwiinngg  tthhee  PPaarrkk  tteesstt,,  oonnee  mmaayy  ccoonncclluuddee  

tthhaatt  tthheerree  iiss  nnoo  hheetteerroosscceeddaassttiicc iittyy  iinn  tthhee  eerrrroorr  vvaarriiaannccee..  

  

AAlltthhoouugghh  eemmppiirriiccaallllyy  aappppeeaalliinngg,,  tthhee  PPaarrkk  tteesstt  hhaass  ssoommee  pprroobblleemmss..  FFoorr  iinnssttaannccee,,  tthhee  eerrrroorr  tteerrmm,,VVii  

mmaayy  nnoott  ssaattiissffyy  tthhee  OOLLSS  aassssuummppttiioonnss  aanndd  mmaayy  iittsseellff  bbee  hheetteerroosscceeddaassttiicc..  NNoonneetthheelleessss,,  aass  aa  ssttrriiccttllyy  

eexxpplloorraattoorryy  mmeetthhoodd,,  oonnee  mmaayy  uussee  tthhee  PPaarrkk  tteesstt..  

  

SSppeeaarrmmaann’’ss  RRaannkk  CCoorrrreellaatt iioonn  TTeesstt   

TThhiiss  tteesstt  rreeqquuiirreess  ccaallccuullaattiinngg  rraannkk  ccoorrrreellaattiioonn  wwhheerree  iittss  ccooeeffffiicciieenntt  ccaann  bbee  uusseedd  ttoo  ddeetteecctt  

hheetteerroosscceeddaassttiicc iittyy..  TThhee  rraannkk  ccoorrrreellaattiioonn  ccooeeffffiicc iieenntt  iiss  ggiivveenn  bbyy    

  rrss  ==  11  ––  66  















)1( 2

2

nn

d i
                                      

wwhheerree  ddii  ==  ddiiffffeerreennccee  iinn  tthhee  rraannkkss  aassssiiggnneedd  ttoo  ttwwoo  ddiiffffeerreenntt  cchhaarraacctteerriissttiiccss  ooff  tthhee  ii
tthh

  iinnddiivviidduuaall  oorr  

pphheennoommeennoonn  aanndd  nn  ==  nnuummbbeerr  ooff  iinnddiivviidduuaallss  oorr  pphheennoommeennaa  rraannkkeedd..  TThhee  sstteeppss  rreeqquuiirreedd  iinn  tthhiiss  tteesstt  

aarree  ssttaatteedd  aass  ffoolllloowwss..  

AAssssuummee  YYii  ==  00   ++  11XXii  ++  uuii  

  SStteepp  11..  FFiitt  tthhee  rreeggrreessssiioonn  ttoo  tthhee  ddaattaa  oonn  YY  aanndd  XX  aanndd  oobbttaaiinn  tthhee  rreessiidduuaallss iû   

SStteepp  22..  IIggnnoorriinngg  tthhee  ssiiggnn  ooff  iû ,,  tthhaatt  iiss,,  ttaakkiinngg  tthheeiirr  aabbssoolluuttee  vvaalluuee  || iû ||,,  rraannkk  bbootthh  || iû ||  

aanndd  XXii  ((oorr  iŶ ))  aaccccoorrddiinngg  ttoo  aann  aasscceennddiinngg  oorr  ddeesscceennddiinngg  oorrddeerr  aanndd  ccoommppuuttee  tthhee  

SSppeeaarrmmaann‟‟ss  rraannkk  ccoorrrreellaattiioonn  ccooeeffffiicc iieenntt..    

SStteepp  33..  AAssssuummiinngg  tthhaatt  tthhee  ppooppuullaattiioonn  rraannkk  ccoorrrreellaattiioonn  ccooeeffffiicciieenntt  ss  iiss  zzeerroo  aanndd  nn  >>  88,,  tthhee  

ssiiggnniiffiiccaannccee  ooff  tthhee  ssaammppllee  rrss  ccaann  bbee  tteesstteedd  bbyy  tthhee  tt  tteesstt  aass  ffoolllloowwss ::    

    tt  ==  
21

2

s

s

r

nr




      

wwiitthh  ddff  ==  nn  ––  22  

  

IIff  tthhee  ccoommppuutteedd  tt  vvaalluuee  eexxcceeeeddss  tthhee  ccrriittiiccaall  tt  vvaalluuee,,  wwee  mmaayy  aacccceepptt  tthhee  hhyyppootthheessiiss  ooff  

hheetteerroosscceeddaassttiicciittyy;;  ootthheerrwwiissee  wwee  mmaayy  rreejjeecctt  iitt..  IIff  tthhee  rreeggrreessssiioonn  mmooddeell  iinnvvoollvveess  mmoorree  tthhaann  oonnee  XX  

vvaarriiaabblleess,,  rrss  ccaann  bbee  ccoommppuutteedd  bbeettwweeeenn  || iû ||  aanndd  eeaacchh  ooff  tthhee  XX  vvaarriiaabbllee  sseeppaarraatteellyy  aanndd  ccaann  bbee  

tteesstteedd  ffoorr  ssttaattiissttiiccaa ll  ssiiggnniiffiiccaannccee  bbyy  tthhee  tt-- tteesstt  ggiivveenn..    

  

EExxaammppllee   TToo  iilllluussttrraattee  tthhee  rraannkk  ccoorrrreellaattiioonn  tteesstt  ccoonnssiiddeerr  tthhee  rreeggrreessssiioonn  YYii  ==    ββ00   ++  ββ11XXii..    SSuuppppoossee  

1100  oobbsseerrvvaattiioonnss  aarree  uusseedd  ttoo  tthhiiss  eeqquuaattiioonn..    TThhee  ffoolllloowwiinngg  ttaabbllee  mmaakkeess  uussee  ooff  tthhee  rraannkk  ccoorrrreellaattiioonn  

aapppprrooaacchh  ttoo  tteesstt  tthhee  hhyyppootthheessiiss  ooff  hheetteerroosscceeddaassttiicciittyy..    NNoottiiccee  tthhaatt  ccoolluummnn  66  aanndd  77  ppuutt  rraannkk  ooff  || iû ||  

aanndd  XXii  iinn  aann  aasscceennddiinngg  oorrddeerr..    

  



1122  

  

TTaabbllee  44..11  RRaannkk  CCoorrrreellaattiioonn  TTeesstt  ooff  HHeettrroosscceeddaassttiicc iittyy  

  

OObbsseerr

vv--

aattiioonn  

YY  XX  ŶŶ  ÛÛ==((YY--   ŶŶ))  
RRaannkk  

ooff  ÛÛii  

RRaannkk  

ooff  XXii  

dd  ((ddiiffffeerreennccee  

bbeettwweeeenn  tthhee  

ttwwoo  rraannkkiinngg))  
dd22  

11  1122..44  1122..11  1111..3377  11..0033  99  44  55  2255  

22  1144..44  2211..44  1155..6644  11..2244  1100  99  11  11  

33  1144..66  1188..44  1144..44  00..2200  44  77  --33  99  

44  1166  2211..77  1155..7788  00..2222  55  1100  --55  2255  

55  1111..33  1122..55  1111..5566  00..2266  66  55  11  11  

66  1100..00  1100..44  1100..5599  00..5599  77  22  55  2255  

77  1166..22  2200..88  1155..3377  00..8833  88  88  00  00  

88  1100..44  1100..22  1100..5500  00..1100  33  11  22  44  

99  1133..11  1166..00  1133..1166  00..0066  22  66  --44  1166  

1100  1111..33  1122..00  1111..3333  00..0033  11  33  --22  44  

  TTOOTTAA

LL  

          00  111100  

  

  

TThheenn,,    

      rrss            ==              11  ––  66  








 )1100(10

110
                                      

  ==    00..3333  

aanndd  

        tt            ==                
11.01

8)33.0(


  

                        ==      00..9999  

NNoottee  tthhaatt  ffoorr  88  ((==1100--22))  ddff,,  tthhiiss  tt--vvaalluuee  iiss  nnoott  ssiiggnniiffiiccaanntt  eevveenn  aatt  tthhee  1100%%  lleevveell  ooff  ssiiggnniiffiiccaannccee..    

TThhuuss,,  tthheerree  iiss  nnoo  eevviiddeennccee  ooff  ssyysstteemmaattiicc  rreellaattiioonnsshhiipp  bbeettwweeeenn  tthhee  eexxppllaannaattoorryy  vvaarriiaabbllee  aanndd  tthhee  

aabbssoolluuttee  vvaalluuee  ooff  tthhee  rreessiidduuaallss,,  wwhhiicchh  mmiigghhtt  ssuuggggeesstt  tthhaatt  tthheerree  iiss  nnoo  hheetteerroosscceeddaassttiicc iittyy..  

  

          TThhee   GGoollddffee lldd  ––  QQuuaannddtt  TTeesstt    

This popular method is applicable if one assumes that the heteroscedastic variance,   ii
22 is 

positively related to one of the explanatory variables in the regression model. TThhee  tteesstt  iiss  

ccoommmmoonnllyy  aapppplliiccaabbllee  ttoo  llaarrggee  ssaammpplleess..  TThhee  oobbsseerrvvaattiioonn  mmuusstt  bbee  aatt  lleeaasstt  ttwwiiccee  aass  mmaannyy  aass  tthhee  

ppaarraammeetteerrss  ttoo  bbee  eessttiimmaatteedd..  TThhee  tteesstt  aassssuummeess  nnoorrmmaalliittyy  aanndd  sseerriiaallllyy  iinnddeeppeennddeenntt  ddiissttuurrbbaannccee  

tteerrmm,,  UUii‟‟ss..  CCoonnssiiddeerr  tthhee  ffoolllloowwiinngg::    
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YYii  ==  00   ++  11XX11ii  ++  22XX22ii  ++  ……kkXXkkii  ++  UUii    

  

TThhee  hhyyppootthheessiiss  ttoo  bbee  tteesstteedd  iiss    

  HH00 ::  UUii‟‟ss  aarree  hhoommoosscceeddaassttiicc  

                        HH11 ::  UUii‟‟ss  aarree  hheetteerroosscceeddaassttiicc  ((wwiitthh  iinnccrreeaassiinngg  vvaarriiaannccee))  

  

TToo  tteesstt  tthhiiss,,  GGoollddffeelldd--QQuuaanndd tt  ppeerrffoorrmm  tthhee  ffoolllloowwiinngg  sstteeppss..  

  

SStteepp  11::    TThhee  oobbsseerrvvaattiioonnss  aarree  oorrddeerreedd  aaccccoorrddiinngg  ttoo  tthhee  mmaaggnniittuuddee  ooff  tthhee  iinnddeeppeennddeenntt  vvaarriiaabbllee  

tthhoouugghhtt  ttoo  bbee  rreellaatteedd  ttoo  tthhee  vvaarriiaannccee  ooff  tthhee  ddiissttuurrbbaanncceess..    

  

SStteepp  22::  AA  cceerrttaaiinn  nnuummbbeerr  ooff  cceennttrraall  oobbsseerrvvaattiioonnss  ((rreepprreesseenntteedd  bbyy  cc))  aarree  oommiitttteedd,,  lleeaavviinngg  ttwwoo  

eeqquuaall--ssiizzeedd  ggrroouuppss  ooff  oobbsseerrvvaattiioonnss,,  oonnee  ggrroouupp  ccoorrrreessppoonnddiinngg  ttoo  llooww  vvaalluueess  ooff  tthhee  cchhoosseenn  

iinnddeeppeennddeenntt  vvaarriiaabbllee  aanndd  tthhee  ootthheerr  ggrroouupp  ccoorrrreessppoonnddiinngg  ttoo  hhiigghh  vvaalluueess..  NNoottee  tthhaatt  tthhee  

oobbsseerrvvaattiioonnss  aarree  oommiitttteedd  ttoo  sshhaarrppeenn  oorr  aacccceennttuuaattee  tthhee  ddiiffffeerreennccee  bbeettwweeeenn  tthhee  ssmmaallll  vvaarriiaannccee  aanndd  

tthhee  llaarrggee  vvaarriiaannccee  ggrroouupp..    

  

SStteepp  33..  WWee  ffiitt  sseeppaarraattee  rreeggrreessssiioonn  ttoo  eeaacchh  ssuubb--ssaammppllee,,  aanndd  wwee  oobbttaaiinn  tthhee  ssuumm  ooff  ssqquuaarreedd  

rreessiidduuaallss  ffrroomm  eeaacchh  ooff  tthheemm  aanndd  tthhee  rraattiioo  ooff  tthheeiirr  ssuumm  ooff  ssqquuaarreedd  rreessiidduuaallss  iiss  ffoorrmmeedd..  TThhaatt  iiss,,    


2ˆ
iU   ==  rreessiidduuaallss  ffoorrmm  tthhee  ssuubb--ssaammppllee  ooff  llooww  vvaalluueess  ooff  XX11   wwiitthh  [[((nn--cc))//22]]  ––  kk  ddeeggrreeeess  ooff  ffrreeeeddoomm,,  

wwhheerree  kk  iiss  tthhee  ttoottaall  nnuummbbeerr  ooff  ppaarraammeetteerrss  iinn  tthhee  mmooddeell..  


2ˆ
iU   ==    rreessiidduuaall  ffrroomm  tthhee  ssuubb  ssaammppllee  ooff  hhiigghh  vvaalluueess  ooff  XX,,  wwiitthh  tthhee  ssaammppllee  ddeeggrreeee  ooff  ffrreeeeddoomm,,  

[[((nn--cc))//22]]  ––  kk    

IIff  eeaacchh  ooff  tthheessee  ssuummss  iiss  ddiivviiddeedd  bbyy  tthhee  aapppprroopprriiaattee  ddeeggrreeeess  ooff  ffrreeeeddoomm,,  wwee  oobbttaaiinn  eessttiimmaatteess  ooff  

tthhee  vvaarriiaanncceess  ooff  tthhee  sU 'ˆ iinn  tthhee  ttwwoo  ssuubb  ssaammpplleess..    

SStteepp  IIVV  ::  CCoommppuuttee  tthhee  rraattiioo  ooff  tthhee  ttwwoo  vvaarriiaanncceess  ggiivveenn  bbyy  

  FF
**  

==  
   

    










2

1

2

2

2

1

2

2

ˆ

ˆ

2ˆ

2

U

U

kcnU

kcnU
              

hhaass  aann  FF  ddiissttrriibbuuttiioonn  ((wwiitthh  nnuummeerraattoorr  aanndd  ddeennoommiinnaattoorr    eeaacchh  [[{{nn--cc--22kk}}//22]]  ddeeggrreeeess  ooff  ffrreeeeddoomm,,  

wwhheerree  nn  ==  ttoottaall  nnuummbbeerr  ooff  oobbsseerrvvaattiioonnss,,  cc  ==  cceennttrraall  oobbsseerrvvaattiioonnss  oommiitttteedd,,  kk  ==  nnuummbbeerr  ooff  

ppaarraammeetteerrss  eessttiimmaatteedd  ffrroomm  eeaacchh  rreeggrreessssiioonn))..  IIff  tthhee  ttwwoo  vvaarriiaanncceess  aarree  tthhee  ssaammee  ((tthhaatt  iiss,,  iiff  tthhee  sU 'ˆ

aarree  hhoommoosscceeddaassttiicccc))  tthhee  vvaalluuee  ooff  FF
**
  wwiillll  tteenndd  ttoo  oonnee..  IIff  tthhee  vvaarriiaannccee  ddiiffffeerr,,  FF

**
  wwiillll  hhaavvee  aa  llaarrggee  

vvaalluuee  ((ggiivveenn  tthhaatt  bbyy  tthhee  ddeessiiggnn  ooff  tthhee  tteesstt  
2

2Û >>  
2

1Û ..  GGeenneerraallllyy,,  tthhee  oobbsseerrvveedd  FF
**
  iiss  ccoommppaarreedd  

wwiitthh  tthhee  tthheeoorreettiiccaall  vvaalluuee  ooff  FF  wwiitthh  ((nn--cc--22kk))//22  ddeeggrreeeess  ooff  ffrreeeeddoomm  ((aatt  aa  cchhoosseenn  lleevveell  ooff  

ssiiggnniiffiiccaannccee..  TThhee  tthheeoorreettiiccaall  vvaalluuee  ooff  FF  ((oobbttaaiinneedd  ffrroomm  tthhee  FF-- ttaabblleess))  iiss  tthhee  vvaalluuee  ooff  FF  tthhaatt  ddeeffiinneess  

tthhee  ccrriittiiccaall  rreeggiioonn  ooff  tthhee  tteesstt..    
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IIff  FF**  >>  FF  wwee  aacccceepptt  tthhaatt  tthheerree  iiss  hheetteerroosscceeddaassttiicciittyy  ((tthhaatt  iiss  wwee  rreejjeecctt  tthhee  nnuullll  hhyyppootthheessiiss  ooff  nnoo  

ddiiffffeerreennccee  bbeettwweeeenn  tthhee  vvaarriiaanncceess  ooff  UU‟‟ss  iinn  tthhee  ttwwoo  ssuubb  ssaammpplleess))..  IIff  FF
**
  <<  FF,,  wwee  aacccceepptt  tthhaatt  tthhee  UU‟‟ss  

aarree  hhoommoosscceeddaassttiicc  ((iinn  ootthheerr  wwoorrddss  wwee  aacccceepptt  tthhee  nnuullll  hhyyppootthheessiiss))..  TThhee  hhiigghheerr  tthhee  oobbsseerrvveedd  FF
**
  

rraattiioo  tthhee  ssttrroonnggeerr  tthhee  hheetteerroosscceeddaassttiicc iittyy  ooff  tthhee  UU‟‟ss..    

  

EExxaammppllee ::  SSuuppppoossee  tthhaatt  wwee  hhaavvee  ddaattaa  oonn  ccoonnssuummppttiioonn  eexxppeennddiittuurree  iinn  rreellaattiioonn  ttoo  iinnccoommee  ffoorr  aa  

ccrroossss  sseeccttiioonn  ooff  3300  ffaammiilliieess..    SSuuppppoossee  wwee  ppoossttuullaattee  tthhaatt  ccoonnssuummppttiioonn  eexxppeennddiittuurree  iiss  lliinneeaarrllyy  

rreellaatteedd  ttoo  iinnccoommee  bbuutt  tthhaatt  hheetteerroosscceeddaassttiicciittyy  iiss  pprreesseenntt  iinn  tthhee  ddaattaa..    SSuuppppoossee  ffuurrtthheerr  tthhaatt  tthhee  

mmiiddddllee  44  oobbsseerrvvaattiioonnss  aarree  ddrrooppppeedd  aafftteerr  tthhee  nneecceessssaarryy  rreeoorrddeerriinngg  ooff  tthhee  ddaattaa..    SSuuppppoossee  wwee  oobbttaaiinn  

tthhee  ffoolllloowwiinngg  rreessuulltt  aafftteerr  wwee  ppeerrffoorrmm  aa  sseeppaarraattee  rreeggrreessssiioonn  bbaasseedd  oonn  tthhee  ttwwoo  1133  oobbsseerrvvaattiioonnss..  

FF
**

  ==














11
17.377

11
8.1536

  

    

FF
**

  ==  44..0077  

NNoottee  ffrroomm  tthhee  FF--   ttaabbllee  iinn  tthhee  aappppeennddiixx  tthhaatt  tthhee  ccrriittiiccaall  FF  vvaalluuee  ffoorr  1111  nnuummeerraattoorr  aanndd  1111  

ddeennoommiinnaattoorr  ddff  aatt  tthhee  55%%  lleevveell  iiss  22..8822..    SSiinnccee  tthhee  eessttiimmaatteedd  FF**  vvaalluuee  eexxcceeeeddss  tthhee  ccrriittiiccaall  vvaalluuee,,  

wwee  mmaayy  ccoonncclluuddee  tthhaatt  tthheerree  iiss  hheetteerroosscceeddaassttiicc iittyy  iinn  tthhee  eerrrroorr  vvaarriiaannccee..  

  

NNoottee,,  hhoowweevveerr,,  tthhaatt  tthhee  aabbiilliittyy  ooff  tthhee  GGoollddffeelldd--QQuuaaddeenntt  tteesstt  ttoo  ppeerrffoorrmm  ssuucccceessssffuullllyy  ddeeppeennddss  oonn  

hhooww  cc  iiss  cchhoosseenn..  MMoorreeoovveerr,,  iittss  ssuucccceessss  ddeeppeennddss  oonn  iiddeennttiiffyyiinngg  tthhee  ccoorrrreecctt  XX  ((ii..ee..,,  iinnddeeppeennddeenntt))  

vvaarriiaabbllee  wwiitthh  wwhhiicchh  ttoo  oorrddeerr  tthhee  oobbsseerrvvaattiioonnss..    
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        BBrreeuusscchh--PPaaggaann((BBPP))  tteesstt   

  

TThhee  BBrreeuusscchh––PPaaggaann  tteesstt  iiss  aa  LLaaggrraannggee  mmuullttiipplliieerr  tteesstt  ffoorr  hheetteerroosscceeddaassttiicciittyy..  TThhee  mmaaiinn  

cchhaarraacctteerriissttiiccss  ooff  LLaaggrraannggee  mmuullttiipplliieerr  tteessttss  aarree  tthhaatt  tthheeyy  ddoo  nnoott  rreeqquuiirree  tthhaatt  tthhee  mmooddeell  iiss  

eessttiimmaatteedd  uunnddeerr  tthhee  aalltteerrnnaattiivvee  aanndd  tthhaatt  tthheeyy  aarree  oofftteenn  ssiimmppllyy  ccoommppuutteedd  ffrroomm  tthhee  RR
22
  ooff  ssoommee  

aauuxxiilliiaarryy  rreeggrreessssiioonn..  

 

TToo  iilllluuss ttrraa ttee  tthhiiss  tteesstt,,  ccoonnssiiddeerr  tthhee  kk--vvaarriiaabbllee  lliinneeaarr  rreeggrreessssiioonn  mmooddeell  

  YYii  ==  00   ++  11XX11ii  ++  ……  ++  kkXXkkii  ++  UUii        ………………………………………………………………....  ((11))            

  

TThhee  BBrreeuusscchh--PPaaggaann  tteesstt  ffoorr  hheetteerroosscceeddaassttiicc iittyy  iiss  ccaarrrriieedd  oouutt  aass  ffoolllloowwss ::  

11..  EEssttiimmaattee  eeqquuaattiioonn  ((11))  bbyy  OOLLSS,,  aanndd  oobbttaaiinn  tthhee  rreessiidduuaall,,  iû ..  

22..  RRuunn  tthhee  aauuxxiilliiaarryy  rreeggrreessssiioonn  vXXXu kk   ...ˆ
22110

2
  aanndd  oobbttaaiinn  tthhee  RR--

ssqquuaarreedd  ffrroomm  tthhiiss  rreeggrreessssiioonn,,  
2

ˆ2u
R ..  

33..  FFoorrmm  eeiitthheerr  tthhee  FF  ssttaattiissttiicc ::  FF  ==  
)(1(

)1(
2

2

knR

kR




    

oorr  tthhee  LLMM  ssttaattiissttiicc ::  LLMM  ==  nn
2

ˆ2u
R     

  

UUnnddeerr  tthhee  nnuullll  hhyyppootthheessiiss,,  LLMM  iiss  ddiissttrriibbuutteedd  aassyymmppttoottiiccaallllyy  aass  12 k ,,  tthhaatt  iiss,,  cchhii--ssqquuaarree  

wwiitthh  ddeeggrreeeess  ooff  ffrreeeeddoomm  eeqquuaall  ttoo  nnuummbbeerr  ooff  rreeggrreessssoorrss  ((eexxcclluuddiinngg  tthhee  iinntteerrcceepptt))..  IIff  tthhee  pp--

vvaalluuee  iiss  ssuuffffiicciieennttllyy  ssmmaallll,,  tthhaatt  iiss,,  bbeellooww  tthhee  cchhoosseenn  ssiiggnniiffiiccaannccee  lleevveell,,  tthheenn  wwee  rreejjeecctt  tthhee  

nnuullll  hhyyppootthheessiiss  ooff  hhoommoosscceeddaassttiicc iittyy..  

  

                          TThhee   WWhhiittee   TTeesstt  

  

WWhhiittee  ((11998800))  pprrooppoosseedd  aa  tteesstt  ffoorr  hheetteerroosscceeddaassttiicciittyy  tthhaatt  aaddddss  tthhee  ssqquuaarreess  aanndd  ccrroossss  pprroodduuccttss  ooff  

aallll  ooff  tthhee  iinnddeeppeennddeenntt  vvaarriiaabblleess..  TThhee  tteesstt  iiss  eexxpplliicciittllyy  iinntteennddeedd  ttoo  tteesstt  ffoorr  ffoorrmmss  ooff  

hheetteerroosscceeddaassttiicc iittyy  tthhaatt  iinnvvaalliiddaa ttee  tthhee  uussuuaall  OOLLSS  ssttaannddaarrdd  eerrrroorrss  aanndd  tteesstt  ssttaattiissttiiccss..  

  

SSuuppppoossee  aa  mmooddeell  wwiitthh  tthhrreeee  eexxppllaannaattoorryy  vvaarriiaabblleess  

uXXXYi  2222110          …………………………………………………………………………………………....((22))  

SStteeppss    

11..  RRuunn  rreeggrreessssiioonn  oonn  tthhee  EEqq..((22))  aanndd  oobbttaaiinn  û   

22..  RRuunn  tthhee  aauuxxiilliiaarryy  rreeggrreessssiioonn::

uXXXXXXXXXXXXu  329318217

2

36

2

25

2

143322110

2ˆ 

aanndd  oobbttaaiinn  
2

ˆ2u
R ..    
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TThhee  rraattiioonnaallee  ooff  iinncclluudd iinngg  tthhee  iinnddeeppeennddeenntt  vvaarriiaabblleess,,  tthheeiirr  ssqquuaarreess,,  aanndd  ccrroossss  pprroodduuccttss  iiss  

tthhaatt  tthhee  vvaarriiaannccee  mmaayy  bbee  ssyysstteemmaatt iiccaa ll llyy  ccoorrrreellaatteedd  wwiitthh  eeiitthheerr  ooff  tthhee  iinnddeeppeennddeenntt  

vvaarriiaabblleess  lliinneeaarr llyy  oorr  nnoonn-- lliinneeaa rr llyy..    

TThhee  nnuullll  hhyyppootthheessiiss  iiss  tthhaatt::        HH00 ::  1 == 2   == 3 ==  ..  ..  ..  ==  9   

33..    FFoorrmm  LLMM  ssttaattiissttiicc ::  LLMM  ==  nn
2

ˆ2u
R   ~ 2   wwiitthh  nniinnee  ddeeggrreeeess  ooff  ffrreeeeddoomm..  IIff  wwee  ffaaiill  ttoo  rreejjeecctt  

tthhee  nnuullll,,  wwee  ccoonncclluuddee  tthhaatt  tthheerree  iiss  hhoommoosscceeddaassttiicc iittyy..  WWee  ccaann  aallssoo  uussee  aann  FF  tteesstt  ooff  tthhiiss  

hhyyppootthheessiiss ;;  bbootthh  tteessttss  hhaavvee  aassyymmppttoottiicc  jjuussttiiffiiccaatt iioo nn..  

  

DD))  RReemmeeddiiaall   MMeeaassuurreess    

  

HHeetteerroosscceeddaaccttiicciittyy  ddooeess  nnoott  ddeessttrrooyy  tthhee  uunnbbiiaasseeddnneessss  aanndd  ccoonnssiisstteennccyy  pprrooppeerrttiieess  ooff  tthhee  OOLLSS  

eessttiimmaattoorrss,,  bbuutt  tthheeyy  aarree  nnoo  lloonnggeerr  eeffffiicciieenntt,,  nnoott  eevveenn  aassyymmppttoottiiccaallllyy  ((ii..ee..,,  llaarrggee  ssaammppllee  ssiizzee))..  TThhiiss  

llaacckk  ooff  eeffffiicciieennccyy  mmaakkeess  tthhee  uussuuaall  hhyyppootthheessiiss  tteessttiinngg  pprroocceedduurree  ooff  dduubbiioouuss  vvaalluuee..  TThheerreeffoorree,,  

rreemmeeddiiaall  mmeeaassuurreess  aarree  cclleeaarrllyy  ccaalllleedd  ffoorr..  There are two approaches to remediation: when ii
22 is 

known and when ii
22 is not known. 

  

When σi
2 is Known: The Method of Weighted Least Squares (WLS) 

 

If σi
2 is known, the most straightforward method of correcting heteroscedasticity is by means of 

weighted least  squares. The OLS method assigns equal weight or importance to each 

observation. However, a method of estimation known as generalized least squares (GLS) takes 

such information into account explicitly and is therefore capable of producing estimators that are 

BLUE. Though WLS is just a special case of the more general estimating technique, GLS, in the 

context of heteroscedasticity, one can treat the two terms WLS and GLS interchangeably. To see 

how this is accomplished, consider the familiar two-variable model: 

 

YYii  ==  00   ++  11XXii  ++  uuii  

  

YYii  ==  00   XX00ii  ++  11XXii  ++  uuii        wwhheerree  XX00ii==11  ffoorr  eeaacchh  ii..  

  

  

  

DDiivviidd iinngg  bbootthh  ssiiddeess  bbyy  ii  

)()()( 1
0

0

i

i

i

i

i

i

i

i uXXY








  

which for ease of exposition, can be written as 

 

YYii**  ==  00**  ++  11**XXii**  ++  uuii**  
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What is the purpose of transforming the original model? To see this, notice the following feature 

of the transformed error term uuii**  

VVaarr((uuii**))  ==  EE((uuii**))
22
  ==EE((

2)
i

iu


==  )E(u

1 2

i2

i
ssiinnccee  

2

i iiss  kknnoowwnn  

                                                                                          ==  
2

2

1
i

i




        ssiinnccee  
2

i )E(u ==
2

i  

                                                  = 1 

which is a constant. That is, the variance of the transformed disturbance term uuii** is now 

homoscedastic. Since we are still retaining the other assumptions of the classical model, ui* is 

homoscedastic suggests that if we apply OLS to the transformed model it will produce estimators 

that are BLUE. In short, the estimated 00**  and 11**  are now BLUE and not the OLS estimators 

0̂ and 
1̂ ..  

To obtain GLS estimators, we minimize 

  

2**

1

*

0

*

0

**2 )ˆˆ(ˆ
iiii XXYu     

 2*

1
0*

0

2 )(ˆ)(ˆ)()
ˆ

(
i

i

i

i

i

i

i

i XXYu








             

WWhhiicchh  ccaann  aallssoo  bbee  wwrriitttteenn  aass::  

2*

10

*

0

2
)ˆˆ(ˆ

iiiiii XXYwuw     

WWhheerree  
2

1

i

iw


   

Thus, in GLS we minimize a weighted sum of residual squares with wi = 1/σi
2 acting as the 

weights, but in OLS we minimize non-weighted or (what amounts to the same thing) equally 

weighted RSS.  In GLS, the weight assigned to each observation is inversely proportional to its 

σi, that is, observations coming from a population with larger σi will get relatively smaller weight 

and those from a population with smaller σi will get proportionately larger weight in minimizing 

the RSS. 

 

 

When σi
2 Is Not Known: White’s Heteroscedasticity-Consistent Standard Errors 

 

If true σi
2 are known, we can use the WLS method to obtain BLUE estimators. Since the true σi

2 

are rarely known, there is a way of obtaining consistent (in the statistical sense) estimates of the 

variances and covariances of OLS estimators even if there is heteroscedasticity. White has shown 

that this estimate can be performed so that asymptotically valid (i.e., large-sample) statistical 

inferences can be made about the true parameter values. White‟s heteroscedasticity-corrected 

standard errors are also known as robust standard errors. 
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NNoottee::  IInn  aaddddiittiioonn  ttoo  tthhee  aabboovvee  mmeeaassuurreess,,  aa  lloogg  ttrraannssffoorrmmaa tt iioonn  ssuucchh  aass    

  llnnYYii  ==  00   ++  11 llnnXXii  ++  UUii  

vveerryy  oofftteenn  ssuucchh  ttrraannssffoorrmmaatt iioonn  rreedduucceess  hheetteerroosscceeddaassttiicc iittyy  wwhheenn  ccoommppaarreedd  wwiitthh  tthhee  rreeggrreessssiioonn    

YYii  ==  00   ++  11XXii  ++  UUii  

TThhiiss  rreessuulltt  aarriisseess  bbeeccaauussee  lloogg  ttrraannssffoorrmmaattiioonn  ccoommpprreesssseess  tthhee  ssccaalleess  iinn  wwhhiicchh  tthhee  vvaarriiaabblleess  aarree  

mmeeaassuurreedd..  FFoorr  eexxaammppllee,,  lloogg  ttrraannssffoorrmmaattiioonn  rreedduucceess  aa  tteenn--ffoolldd  ddiiffffeerreennccee  bbeettwweeeenn  ttwwoo  vvaalluueess  

((ssuucchh  aass  bbeettwweeeenn  88  aanndd  8800))  iinnttoo  aa  ttwwoo--ffoolldd  ddiiffffeerreennccee  ((bbeeccaauussee  llnn  8800    ==    44..3322  aanndd  llnn  88  ==  22..0088))..  
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55..33  AAUUTTOOCCOORRRREELLAATTIIOONN  

  

aa))    TThhee   NNaattuurree   ooff  AAuuttooccoorrrree llaattiioonn    

The term autocorrelation may be defined as “correlation between members of series of 

observations ordered in time [as in time series data] or space [as in cross-sectional data]. AAnn  

iimmppoorrttaanntt  aassssuummppttiioonn  ooff  tthhee  ccllaassssiiccaall  lliinneeaarr  mmooddeell  iiss  tthhaatt  tthheerree  iiss  nnoo  aauuttooccoorrrreellaattiioonn  oorr  sseerriiaall  

ccoorrrreellaattiioonn  aammoonngg  tthhee  ddiissttuurrbbaanncceess  eenntteerriinngg  iinnttoo  tthhee  ppooppuullaattiioonn  rreeggrreessssiioonn  ffuunnccttiioonn..  TThhiiss  

aassssuummppttiioo nn  iimmpplliieess  tthhaatt::  

  CCoovv((UUiiUUjj))  ==  EE{{        ––                         ––                     

                  ==  EE((UUiiUUjj))    

                                                            ==  00  ((ffoorr  ii     jj))  

IIff  tthhiiss  aassssuummppttiioonn  iiss  vviioollaatteedd,,  tthhee  ddiissttuurrbbaanncceess  aarree  ssaaiidd  ttoo  bbee  aauuttooccoorrrreellaatteedd..    

 

SSiinnccee  aauuttooccoorrrreellaatteedd  eerrrroorrss  aarriissee  mmoosstt  ffrreeqquueennttllyy  iinn  ttiimmee  sseerriieess  mmooddeellss,,  tthhee  ddiissccuussssiioonn  iinn  tthhee  rreesstt  

ooff  tthhiiss  cchhaapptteerr  iiss  ccoouucchheedd  iinn  tteerrmmss  ooff  ttiimmee  sseerriieess  ddaattaa..    

  

TThheerree  aarree  aa  nnuummbbeerr  ooff  ttiimmee--sseerriieess  ppaatttteerrnnss  oorr  pprroocceessss  tthhaatt  ccaann  bbee  uusseedd  ttoo  mmooddeell  ccoorrrreellaatteedd  eerrrroorrss..  

TThhee  mmoosstt  ccoommmmoonn  iiss  wwhhaatt  iiss  kknnoowwnn  aass  ““tthhee  ffiirrsstt   oorrddeerr  aauuttoorreeggrreessssiivvee  pprroocceessss””  oorr  AARR((11))  

pprroocceessss..    

  

CCoonnssiiddeerr    

YYtt   ==  00   ++  11XXtt   ++  uutt     

wwhheerree,,  tt  ddeennootteess  ddaattaa  oorr  oobbsseerrvvaattiioonn  aatt  ttiimmee  tt  ((ii..ee..,,  aa  ttiimmee  sseerriieess  ddaattaa))  wwiitthh  tthhiiss  oonnee  ccaann  aassssuummee  

tthhaatt  tthhee  ddiissttuurrbbaanncceess  aarree  ggeenneerraatteedd  aass  ffoolllloowwss..  

  uutt   ==  uutt--11   ++  tt   

wwhheerree     iiss  kknnoowwnn  aass  tthhee  ccooeeffffiicciieenntt  ooff  aauuttooccoovvaarriiaannccee  aanndd  tt   iiss  tthhee  ssttoocchhaassttiicc  tteerrmm  ssuucchh  tthhaatt  iitt  

ssaattiissffiieess  tthhee  ssttaannddaarrdd  OOLLSS  aassssuummppttiioonnss,,  nnaammeellyy  

  EE((tt ))  ==  00  

  VVaarr((tt ))  ==  
22
  

  CCoovv  ((tt ,,  tt++ss))  ==  00  

wwhheerree  ssuubbssccrriipptt  „„ss‟‟  rreepprreesseenntt  tthhee  eexxaacctt  ppeerriioodd  ooff  llaagg..  

  

TThhee  aabboovvee  ssppeecciiffiiccaattiioonn  iiss  ooff  ffiirrsstt  oorrddeerr  bbeeccaauussee  tthhee  rreeggrreessssiioonn  ooff  uutt   iiss  oonn  iittsseellff  llaaggggeedd  oonnee  ppeerriioodd  

((wwhheerree  tthhee  ccooeeffffiicciieenntt     iiss  tthhee  ff iirrsstt   oorrddeerr  ccooeeff ff iicciieenntt   ooff   aauuttooccoorrrreellaatt iioonn))..  NNoottee  tthhaatt  tthhee  aabboovvee  

ssppeecciiffiiccaattiioonn  ppoossttuullaatteess  tthhaatt  tthhee  mmoovveemmeenntt  oorr  sshhiifftt  iinn  uutt   ccoonnssiissttss  ooff  ttwwoo  ppaarrttss::  aa  ppaarrtt  uutt--11 ,,  wwhhiicchh  

aaccccoouunnttss  ffoorr  ssyysstteemmaattiicc  sshhiifftt,,  aanndd  tthhee  ootthheerr  tt   wwhhiicchh  iiss  ppuurreellyy  rraannddoomm..    

  

RReellaattiioonnsshhiippss  bbeettwweeeenn  uutt ‟‟ss  ccaann  bbee  sshhoowwnn  aass::  

  CCoovv  ((uutt ,,  uutt--11))  ==  EE[[((uutt   ––  EE((uutt ))  ((uutt--11   ––  EE((uutt--11))]]  

                        ==  EE[[uutt   uutt--11]]  
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bbyy  ssuubbssttiittuutt iinngg  uutt   ==  uutt--11   ++  tt   wwee  oobbttaaiinn::    

    ==    EE[[((uutt--11   ++  tt ))  uutt--11]]  

    ==  EE[[uu
22

tt--11]]  ++  EE[[tt   uutt--11]]  

NNoottee  tthhaatt  EE((tt ))  ==  00  tthhuuss  EE((tt   UUtt--11))  ==  00  

  

SSiinnccee  wwiitthh  tthhee  aassssuummppttiioonn  ooff  hhoommoosscceeddaassttiicciittyy  ((ii..ee..,,  ccoonnssttaanntt  vvaarriiaannccee))  VVaarr((uutt ))  ==  VVaarr  ((uutt--11))  ==  
22
  

tthhee  rreessuulltt  wwoouulldd  bbee    

  CCoovv  ((uutt ,,  uutt--11))    ==      
22  

  

NNooww,,  ccoorrrreellaattiioonn  ooff  uutt ,,  uutt--11   iiss  ggiivveenn  bbyy    

CCoorrrr  ((UUtt ,,  UUtt--11))  ==  
)()()(

),(
2

1

1

ttt

tt

UVarUVarUVar

UUCov 




   

                          ==  





2

2

                    wwhheerree  --11  <<     <<  11  

HHeennccee,,  ((rrhhoo))  iiss  ssiimmppllee  ccoorrrreellaattiioonn  ooff  tthhee  ssuucccceessssiivvee  eerrrroorrss  ooff  tthhee  oorriiggiinnaa ll  mmooddeell..  

NNoottee  tthhaatt  wwhheenn     >>  00  ssuucccceessssiivvee  eerrrroorrss  aarree  ppoossiittiivveellyy  ccoorrrreellaatteedd  aanndd  wwhheenn     <<  00  ssuucccceessssiivvee  eerrrroorrss  

aarree  nneeggaattiivveellyy  ccoorrrreellaatteedd..  IItt  ccaann  bbee  sshhoowwnn  tthhaatt  ccoorrrr((UUtt ,,  UUtt--ss))  ==  
ss
  ((wwhheerree  ss  rreepprreesseennttss  tthhee  eexxaacctt  

ppeerriioodd  ooff  llaagg))..  IItt  iimmpplliieess  tthhaatt  tthhee  ccoorrrreellaattiioonn  ((bbee  iitt  nneeggaattiivvee  oorr  ppoossiittiivvee))  bbeettwweeeenn  aannyy  ttwwoo  ppeerriioodd  

ddiimmiinniisshheess  aass  ttiimmee  ggooeess  bbyy;;  ii..ee..,,  aass  ss  iinnccrreeaasseess..  

  

bb))   SSoouurrcceess   ooff  AAuuttooccoorrrree llaattiioonn  

  

  IInneerrtt iiaa::  A salient feature of most economic time series is inertia, or sluggishness. As is 

well known, time series such as GNP, price indices,  production, employment, and 

unemployment exhibit (business) cycles. Starting at the bottom of the recession, when 

economic recovery starts, most of these series start moving upward. In this upswing, the 

value of a series at one point in time is greater than its previous value. Thus, there is a 

“momentum‟‟ built into them, and it continues until something happens (e.g., increase in 

interest rate or taxes or both) to slow them down. Therefore, in regressions involving time 

series data, successive observations are likely to interdependent.     

  DDaattaa  mmaanniippuullaattiioonn::  ppuubblliisshheedd  ddaattaa  oofftteenn  uunnddeerrggoo  iinntteerrppoollaattiioonn  oorr  ssmmooootthhiinngg,,  pprroocceedduurreess  

tthhaatt  aavveerraaggee  ttrruuee  ddiissttuurrbbaanncceess  oovveerr  ssuucccceessssiivvee  ttiimmee  ppeerriiooddss..    

  SSppeecciiffiiccaattiioonn  bbiiaass   

 Specification Bias: Excluded Variables Case.  In empirical analysis the researcher 

often starts with a plausible regression model that may not be the most “perfect‟‟ one. 

After the regression analysis, the researcher does the postmortem to find out whether 

the results accord with a priori expectations. For example, suppose we have the 

following demand model:   
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Yt = β0 + β1X1t + β2X2t + β3X3t + ut     

  

However, for some reason we run  the following regression:    

  

                                    Yt = β0 + β1X1t + β2X2t + vt    

 

Now if the first model is the “correct‟‟ model, running  the second is tantamount to letting v t = 

β3X3t + ut. To the extent that X3 affects Yt, the error term  v will reflect a systematic pattern, thus 

creating (false) autocorrelation. A  simple test of this would be to run both models and see  

whether autocorrelation, if any, observed in the second model, disappears when  the first model is 

run.  

 

 Specification Bias: Incorrect Functional Form. Suppose the “true‟‟ or correct model 

in a cost-output study is as follows: 

 

Marginal costi = β0 + β1 outputi + β2 outputi
2 + ui   

 

But we fit the following model:  

 

Marginal costi = α0 + α1 outputi + vi  

 

Because the disturbance term vi is, in fact, equal to output2 + ui , it will catch the 

systematic effect of the output2 term on marginal cost. In this case, vi will reflect 

autocorrelation because of the use of an incorrect functional form. 

 Lags. For instance, in a time series regression of consumption expenditure on income, it 

is not uncommon to find that the consumption expenditure in the current period depends, 

among other things, on the consumption expenditure of the previous period. That is, 

(Consumption)t= β0 + β1( income)t + β2 (consumption)t−1 + ut  

 

A regression like this is known as autoregression because one of the explanatory 

variables is the lagged value of the dependent variable. The rationale is consumers do not 

change their consumption habits readily for psychological, technological, or institutional 

reasons. Now if we neglect the lagged consumption in the model, the resulting error term 

will reflect a systematic pattern due to the influence of lagged consumption on current 

consumption. 
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cc))  CCoonnsseeqquueenncceess  ooff  AAuuttooccoorrrreellaatt iioonn    

i) As in the case of heteroscedasticity, in the presence of autocorrelation the OLS 

estimators are still linear unbiased as well as consistent and asymptotically normally 

distributed, but they are no longer efficient (i.e., minimum variance). As a 

consequence, the usual t, F, and χ2 tests cannot be legitimately applied. 

iiii))   TThhee  pprreeddiiccttiioonn  bbaasseedd  oonn  oorrddiinnaarryy  lleeaasstt  ssqquuaarreess  eessttiimmaattee  wwiillll  bbee  iinneeffffiicciieenntt  wwiitthh  

aauuttooccoorrrreellaatteedd  eerrrroorrss..  TThhiiss  iiss  bbeeccaauussee  ooff  llaarrggeerr  vvaarriiaannccee  aass  ccoommppaarreedd  wwiitthh  pprreeddiiccttiioonnss  

bbaasseedd  oonn  eessttiimmaatteess  oobbttaaiinneedd  ffrroomm  ootthheerr  eeccoonnoommeettrriicc  tteecchhnniiqquueess..    

  

dd))   TTeessttiinngg  ((DDeetteeccttiinngg))  ffoorr  AAuuttooccoorrrree llaattiioonn    

  

AAuuttooccoorrrreellaattiioonn  iiss  ppootteennttiiaallllyy  aa  sseerriieess  pprroobblleemm..  HHeennccee,,  iitt  iiss  eesssseennttiiaall  ttoo  ffiinndd  oouutt  wwhheetthheerr  

aauuttooccoorrrreellaattiioonn  eexxiissttss  iinn  aa  ggiivveenn  ssiittuuaattiioonn..  SSiinnccee  tthhee  ppooppuullaattiioonn  ddiissttuurrbbaanncceess  UUtt ,,  ccaannnnoott  bbee  

oobbsseerrvveedd  ddiirreeccttllyy,,  wwee  uussee  iittss  pprrooxxyy,,  tthhee  rreessiidduuaall  tÛ wwhhiicchh  ccaann  bbee  oobbttaaiinneedd  ffrroomm  tthhee  uussuuaall  OOLLSS  

pprroocceedduurree..  TThhee  eexxaammiinnaattiioonn  ooff  tÛ   ccaann  pprroovviiddee  uusseeffuull  iinnffoorrmmaattiioonn  nnoott  oonnllyy  aabboouutt  aauuttooccoorrrreellaattiioonn  

bbuutt  aallssoo  aabboouutt  hheetteerroosscceeddaassttiicc iittyy,,  mmooddeell  iinnaaddeeqquuaaccyy,,  oorr  ssppeecciiffiiccaatt iioonn  bbiiaass..  

  

ii))   GGrraapphhiiccaall  MMeetthhoodd  

SSoommee  rroouugghh  iiddeeaa  aabboouutt  tthhee  eexxiisstteennccee  ooff  aauuttooccoorrrreellaattiioonn  mmaayy  bbee  ggaaiinneedd  bbyy  pplloottttiinngg  tthhee  rreessiidduuaallss  

eeiitthheerr  aaggaaiinnsstt  ttiimmee  oorr  aaggaaiinnsstt  tthheeiirr  oowwnn  llaaggggeedd  vvaarriiaabblleess..    

  

FFoorr  iinnssttaannccee,,  ssuuppppoossee  pplloottttiinngg  tthhee  rreessiidduuaall  aaggaaiinnsstt  iittss  llaaggggeedd  vvaarriiaabbllee  bbrriinngg  aabboouutt  tthhee  ffoolllloowwiinngg  

rreellaattiioonnsshhiipp..    

  

  

  

  

  

  

  

  

  

  

FFiigguurree  55..11  tÛ aanndd  1
ˆ

tU   

  

AAss  tthhee  aabboovvee  ffiigguurree  rreevveeaallss,,  mmoosstt  ooff  tthhee  rreessiidduuaallss  aarree  bbuunncchheedd  iinn  tthhee  ffiirrsstt  aanndd  tthhee  tthhiirrdd  qquuaaddrraannttss  

ssuuggggeessttiinngg  vveerryy  ssttrroonnggllyy  tthhaatt  tthheerree  iiss  ppoossiittiivvee  ccoorrrreellaattiioonn  iinn  tthhee  rreessiidduuaallss..  HHoowweevveerr,,  tthhee  ggrraapphhiiccaall  

mmeetthhoodd  iiss  eesssseennttiiaallllyy  ssuubbjjeeccttiivvee  oorr  qquuaalliittaattiivvee  iinn  nnaattuurree..  TThheerree  aarree  qquuaannttiittaattiivvee  tteessttss  tthhaatt  ccaann  bbee  

uusseedd  ttoo  ssuupppplleemmeenntt  tthhee  ppuurreellyy  qquuaalliittaatt iivvee  aapppprrooaacchh..    

1
ˆ
tU   
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iiii))   DDuurrbbiinn--WWaattssoonn  dd  TTeesstt  

TThhee  mmoosstt  cceelleebbrraatteedd  tteesstt  ffoorr  ddeetteeccttiinngg  sseerriiaall  ccoorrrreellaattiioonn  iiss  tthhee  oonnee  ddeevveellooppeedd  bbyy  DDuurrbbiinn  aanndd  

WWaattssoonn..  IItt  iiss  ppooppuullaarrllyy  kknnoowwnn  aass  tthhee  DDuurrbbiinn--WWaattssoonn  dd--SSttaattiissttiicc  aanndd  iitt  iiss  ddeeffiinneedd  aass  

    dd  ==  

 











n

t

t

n

t

tt

U

UU

1

2

2

2

1

ˆ

ˆ

  
wwhhiicchh  iiss  ssiimmppllyy  tthhee  rraattiioo  ooff  tthhee  ssuumm  ooff  ssqquuaarreedd  ddiiffffeerreenncceess  iinn  ssuucccceessssiivvee  rreessiidduuaallss  ttoo  tthhee  rreessiidduuaall  

ssuumm  ooff  ssqquuaarreess,,  RRSSSS..  NNoottee  tthhaatt  iinn  tthhee  nnuummeerraattoorr  ooff  tthhee  dd  ssttaattiissttiicc  tthhee  nnuummbbeerr  ooff  oobbsseerrvvaattiioonnss  iiss  

nn--11  bbeeccaauussee  oonnee  oobbsseerrvvaattiioonn  iiss  lloosstt  iinn  ttaakkiinngg  ssuucccceessssiivvee  ddiiffffeerreenncceess..    

  

TThhee  pprrooooff  ooff  dd--ssttaattiissttiicc  iiss  aass  ffoolllloowwss ::  

  

==    



















n

t

t

t

tt

t

t

t

t

U

UUUU

1

2

2

1

2

2

1

2

2

ˆ

ˆˆ2ˆˆ

  

  

hhoowweevveerr,,  ffoorr  llaarrggee  ssaammpplleess  
2

2ˆ

t

tU ,,    




2

2

1
ˆ

t

tU   aanndd


n

t

tU
1

2ˆ aarree  aapppprrooxxiimmaattee llyy  eeqquuaall..  

TThheerreeffoorree,,  iitt  ccaann  bbee  wwrriitttteenn  aass  

  
















2

1

1

2

1

2

1

ˆ

ˆˆ2

ˆ

ˆ2

t

tt

t

t

U

UU

U

U
d   

  

    

)ˆ1(2

)
ˆ

ˆˆ
1(2

2

1

1











d

U

UU
d

t

tt

  

  

    TThhee  aassssuummppttiioonnss  uunnddeerrllyyiinngg  tthhee  dd--ssttaattiissttiicc  aarree::  

aa))  tthhee  rreeggrreessssiioonn  mmooddeell  iinncclluuddeess  aann  iinntteerrcceepptt  tteerrmm    

bb))  tthhee  eexxppllaannaattoorryy  vvaarriiaabblleess  aarree  nnoonn--ssttoocchhaasstt iicc  oorr  ffiixxeedd  iinn  rreeppeeaatteedd  ssaammpplliinngg    

cc))  tthhee  ddiissttuurrbbaanncceess  UUtt   aarree  ggeenneerraatteedd  bbyy  tthhee  ffiirrsstt  oorrddeerr  aauuttoorreeggrreessssiivvee  sscchheemmee..    

  UUtt   ==  UUtt--11   ++  tt ..        Therefore, it cannot be used to detect higher-order  autoregressive 

schemes.  

dd))  The error term ut is assumed to be normally distributed.  

 









 


n

t

t

n

t

tttt

U

UUUU

d

1

2

2

2

1

2

1

2

ˆ

ˆ2ˆ
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ee))  tthhee  rreeggrreessssiioonn  mmooddeell  ddooeess  nnoott  iinncclluuddee  llaaggggeedd  vvaalluuee((ss))  ooff  tthhee  ddeeppeennddeenntt  vvaarriiaabbllee  aass  oonnee  ooff  

tthhee  eexxppllaannaattoorryy  vvaarriiaabblleess  

ff))   TThheerree  aarree  nnoo  mmiissssiinngg  oobbsseerrvvaattiioonnss  iinn  tthhee  ddaattaa..  

  

IInn  tthhee  aabbsseennccee  ooff  tthhee  aauuttooccoorrrreellaattiioonn    wwee  ccaann  eexxppeecctt  ttoo  dd  ttaakkee  aa  vvaalluuee  cclloossee  ttoo  22,,  wwhheenn  nneeggaattiivvee  

aauuttooccoorrrreellaattiioonn  iiss  pprreesseenntt  aa  vvaalluuee  iinn  eexxcceessss  ooff  22  aanndd  mmaayy  bbee  aass  hhiigghh  aass  44,,  aanndd  wwhheenn  ppoossiittiivvee  

aauuttooccoorrrreellaatt iioo nn  iiss  pprreesseenntt  aa  vvaalluuee  lloowweerr  tthhaann  22  aanndd  mmaayy  bbee  cclloossee  ttoo  zzeerroo..    

  

TThhee  DDuurrbbiinn--WWaattssoonn  ssttaattiissttiicc  tteessttss  tthhee  hhyyppootthheessiiss  tthhaatt  HH00 ::     ==  00  ((iimmppllyyiinngg  tthhaatt  tthhee  eerrrroorr  tteerrmmss  aarree  

nnoott  aauuttooccoorrrreellaatteedd  wwiitthh  aa  ffiirrsstt  oorrddeerr  sscchheemmee))  aaggaaiinnsstt  tthhee  aalltteerrnnaattiivvee..  HHoowweevveerr,,  tthhee  ssaammpplliinngg  

ddiissttrriibbuuttiioonn  ffoorr  tthhee  dd--ssttaattiissttiicc  ddeeppeennddss  oonn  tthhee  ssaammppllee  ssiizzee  nn,,  tthhee  nnuummbbeerr  ooff  eexxppllaannaattoorryy  vvaarriiaabblleess  

aanndd  aallssoo  oonn  tthhee  aaccttuuaall  ssaammppllee  vvaalluueess  ooff  tthhee  eexxppllaannaattoorryy  vvaarriiaabblleess..  TThhuuss,,  tthhee  ccrriittiiccaall  vvaalluueess  aatt  

wwhhiicchh  wwee  mmiigghhtt,,  ffoorr  eexxaammppllee,,  rreejjeecctt  tthhee  nnuullll  hhyyppootthheessiiss  aatt  55  ppeerrcceenntt  lleevveell  ooff  ssiiggnniiffiiccaannccee  ddeeppeenndd  

vveerryy  mmuucchh  oonn  tthhee  ssaammppllee  wwee  hhaavvee  cchhoosseenn..  UUnnffoorrttuunnaatteellyy,,  iitt  iiss  iimmpprraaccttiiccaabbllee  ttoo  ttaabbuullaattee  ccrriittiiccaall  

vvaalluueess  ffoorr  aallll  ppoossssiibbllee  sseettss  ooff  ssaammppllee  vvaalluueess..  WWhhaatt  ppoossssiibbllee  hhoowweevveerr  iiss,,  ffoorr  ggiivveenn  vvaalluueess  ooff  

ssaammppllee  ssiizzee  aanndd  nnuummbbeerr  ooff  eexxppllaannaattoorryy  vvaarriiaabblleess,,  ttoo  ffiinndd  uuppppeerr  aanndd  lloowweerr  bboouunnddss  ssuucchh  tthhaatt  

aaccttuuaall  ccrriittiiccaa ll  vvaalluueess  ffoorr  aannyy  sseett  ooff  ssaammppllee  vvaalluueess  wwiillll  ffaallll  wwiitthhiinn  tthheessee  kknnoowwnn  lliimmiittss..    

  

TThhee  DDuurrbbiinn--WWaattssoonn  tteesstt  pprroocceedduurree  iinn  tteessttiinngg  tthhee  nnuullll  hhyyppootthheessiiss  ooff     ==  00  aaggaaiinnsstt  tthhee  aalltteerrnnaattiivvee  

hhyyppootthheessiiss  ooff  ppoossiittiivvee  aauuttooccoorrrreellaattiioonn  iiss  iilllluussttrraatteedd  iinn  tthhee  ffiigguurree  bbeellooww..    

  

TThhee  ddeecciissiioonn  ccrriitteerriioonn  ffoorr  tthhee  DDuurrbbiinn--WWaattssoonn  tteesstt  iiss  tthheerreeffoorree,,  ooff  tthhee  ffoolllloowwiinngg  ffoorrmm..  

--  ffoorr  dd  <<  dd
**

LL   rreejjeecctt  tthhee  nnuullll  hhyyppootthheessiiss  ooff  nnoo  aauuttooccoorrrreellaattiioonn  iinn  ffaavvoorr  ooff  ppoossiittiivvee  

aauuttooccoorrrreellaatt iioo nn;;  

--  ffoorr  dd  >>    dd
**

UU  ddoo  nnoott  rreejjeecctt  nnuullll  hhyyppootthheessiiss,,  ii..ee..,,  iinnssuuffffiicciieenntt  eevviiddeennccee  ttoo  ssuuggggeesstt  ppoossiittiivvee  

aauuttooccoorrrreellaatt iioo nn;;  

--  ffoorr  dd
**

LL  <<  dd  <<  dd
**

UU  ::  iinnccoonncclluuss iivvee..    

  

BBeeccaauussee  ooff  tthhee  ssyymmmmeettrryy  ooff  tthhee  ddiissttrriibbuuttiioonn  iitt  iiss  aallssoo  ppoossssiibbllee  ttoo  uussee  tthhee  ttaabblleess  ffoorr  dd
**

LL   aanndd  dd
**

UU  ttoo  

tteesstt  tthhee  nnuullll  hhyyppootthheessiiss  ooff  nnoo  aauuttooccoorrrreellaattiioonn  aaggaaiinnsstt  tthhee  aalltteerrnnaattiivvee  hhyyppootthheessiiss  ooff  nneeggaattiivvee  

aauuttooccoorrrreellaatt iioo nn,,  ii..ee..     <<  00..  TThhee  ddeecciissiioonn  ccrriitteerriioonn  tthheenn  ttaakkeess  tthhee  ffoorrmm..    

--  ffoorr  dd  >>  44  --   dd
**

LL   rreejjeecctt  tthhee  nnuullll  hhyyppootthheessiiss  ooff  nnoo  aauuttooccoorrrreellaattiioonn  iinn  ffaavvoorr  ooff  nneeggaattiivvee  

aauuttooccoorrrreellaatt iioo nn..    

--  ffoorr  dd  <<  44  --   dd
**

UU  ddoo  nnoott  rreejjeecctt  nnuullll  hhyyppootthheessiiss,,  ii..ee..,,  iinnssuuffffiicciieenntt  eevviiddeennccee  ttoo  ssuuggggeesstt  nneeggaattiivvee  

aauuttooccoorrrreellaatt iioo nn    

--  ffoorr  44  --   dd
**

LL     >>    dd
  
  >>  44--   dd

**
UU  ::  iinnccoonncclluussiivvee..    

  

NNoottee  tthhaatt  ttaabblleess  ffoorr  dd
**

UU  aanndd  dd
**

LL   aarree  ccoonnssttrruucctteedd  ttoo  ffaacciilliittaattee  tthhee  uussee  ooff  oonnee-- ttaaiill  rraatthheerr  tthhaann  ttwwoo  ttaaiill  

tteessttss..  TThhee  ffoolllloowwiinngg  rreepprreesseennttaattiioonn  eexxppllaaiinnss  bbeetttteerr  tthhee  aaccttuuaall  tteesstt  pprroocceedduurree  wwhhiicchh  sshhoowwss  tthhaatt  tthhee  

lliimmiittss  ooff  dd  aarree  00  aanndd  44..    
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++vvee  

aauuttooccoorr

rreellaattiioonn    

ZZoonnee  ooff  

iinnddeecciissiioonn  

DDoo  nnoott  rreejjeecctt  HH00  oorr  HH
**  

oorr  bbootthh  

ZZoonnee  ooff  

iinnddeecciissiioonn  
--vvee  

aauuttooccoorr

rreellaattiioonn    

00  ddLL  ddUU  22  44--ddUU  44--ddLL  44  

dd  

  

  

  

  RReejjeecctt  

  HH00                                                                                                                                                                                                                                                                  RReejjeecctt  
  HH00

**  

  

  

  

  

  

    

  
NNoott ee::    

HH00::  NNoo  pp ooss iitt iivvee  aauutt ooccoorrrreellaatt iioonn    

HH00
**
::  NNoo  NNeeggaatt iivvee  aauutt ooccoorrrreellaatt iioonn    

  

  

NNoottee  tthhaatt  ffrroomm  tthhee  aabboovvee  pprreesseennttaattiioonn  wwee  ccaann  ddeevveelloopp  tthhee  ffoolllloowwiinngg  rruullee  ooff  tthhuummbb..  TThhaatt  iiss,,  iiff  dd  iiss  

ffoouunndd  ttoo  bbee  cclloosseerr  ttoo  22  iinn  aann  aapppplliiccaattiioonn,,  oonnee  mmaayy  aassssuummee  tthhaatt  tthheerree  iiss  nnoo  ffiirrsstt  oorrddeerr  

aauuttooccoorrrreellaattiioonn  eeiitthheerr  ppoossiittiivvee  oorr  nneeggaattiivvee..  IIff  dd  iiss  cclloosseerr  ttoo  00  iitt  iiss  bbeeccaauussee     iiss  cclloosseerr  ttoo  11  

iinnddiiccaattiinngg  ssttrroonngg  ppoossiittiivvee  aauuttooccoorrrreellaattiioonn  iinn  tthhee  rreessiidduuaallss..  SSiimmiillaarrllyy  tthhee  cclloosseerr  dd  iiss  ttoo  44,,  tthhee  

ggrreeaatteerr  tthhee  eevviiddeennccee  ooff  nneeggaattiivvee  sseerriiaall  ccoorrrreellaattiioonn..  TThhiiss  iiss  bbeeccaauussee     iiss  cclloosseerr  ttoo  ––11..    

  

EExxaammppllee ::  SSuuppppoossee  iinn  aa  rreeggrreessssiioonn  iinnvvoollvviinngg  5500  oobbsseerrvvaattiioonnss  wwiitthh  44  rreeggrreessssoorrss,,  tthhee  eessttiimmaatteedd  dd  

ssttaattiissttiicc  wwaass  11..4433..  FFrroomm  tthhee  DDuurrbbiinn  WWaattssoonn  ttaabbllee  wwee  ffiinndd  tthhaatt  aatt  tthhee  55%%  lleevveell,,  tthhee  ccrriittiiccaall  dd  vvaalluuee    

aarree  ddLL   ==  11..3388  aanndd  ddUU  ==  11..7722..  OOnn  tthhee  bbaassiiss  ooff  tthhee  dd  tteesstt  wwee  ccaannnnoott  ssaayy  wwhheetthheerr  tthheerree  iiss  ppoossiittiivvee  

aauuttooccoorrrreellaatt iioo nn  oorr  nnoott  bbeeccaauussee  tthhee  eessttiimmaatteedd  dd  vvaalluuee  lliieess  iinn  tthhee  iinnddeecciiss iivvee  rraannggee..  

  

iii)  The Breusch–Godfrey (BG) Test 

  

To avoid some of the pitfalls of the Durbin–Watson d test of autocorrelation, statisticians 

Breusch and Godfrey have developed a test of autocorrelation that is general in the sense that it 

allows for:  

 nonstochastic regressors, such as the lagged values of the regressand  

  higher-order autoregressive schemes, such as AR(1), AR(2), etc.; and  

  simple or higher-order moving averages of white noise error terms 

 

 Consider Yt = β0 + β1Xt + ut   ………………………………………………………………..((11))  
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Assume that the error term ut follows the pth order autoregressive, AR (p), scheme as follows: 

uutt  ==  11uutt--11   ++22uutt--22  ++33uutt--33   ++..  ..  ..  ++ppuutt--pp   ++  tt      where tt      is a white noise error term. 

  

The null hypothesis H0 to be tested is that: 

H0: ρ1 = ρ2 = . . .  = ρp = 0   …………………………………...(2) 

 

The BG test involves the  following steps:  

i) Estimate equation (1) by OLS and obtain the residuals,   tû .. 

ii) Regress tû  on the original Xt (if there are more than one X variables in the original 

model, include them also) and 1
ˆ
tu , 2

ˆ
tu , . . . , ptu 

ˆ , where the latter are the lagged 

values of the estimated residuals in step 1. Note that to run this regression we will 

have only (n − p) observations. 

 In short, run the following regression: 

tptptttt uuuXu   
ˆˆ...ˆˆˆˆˆ

221121 ………………………………..((33)) 

and obtain R2 from this (auxiliary) regression.        

iii)  If the sample size is large , Breusch and Godfrey have shown that       ((nn--pp))RR
22    

~~  
2

p ..
 

If  (n − p)R2 exceeds the critical chi-square value at the chosen level of significance, 

we reject the null hypothesis, in which case at least one rho in  equation(3) is 

statistically significantly different from zero. That is, there is autocorrelation. 

  

A drawback of the BG test is that the value of p, the length of the lag, cannot be specified a 

priori. 

ee ))  RReemmeeddiiaall  MMeeaassuurreess   

  

With time series data,  autocorrelated residuals are often indications of some error in the way we 

have specified the regression equation than genuine autocorrelation in the disturbances. Mostly, 
positive autocorrelations in economic data are caused by omission of relevant variables.  

Incorrect functional form may also be the cause for autocorrelated residuals. 
 

TThheerreeffoorree,,  wwee  sshhoouulldd  ffiinndd  oouutt  iiff  tthhee  aauuttooccoorrrreellaattiioonn  iiss  ppuurree  aauuttooccoorrrreellaattiioonn  aanndd  nnoott  tthhee  rreessuulltt  ooff  

mmiiss--ssppeecciiffiiccaattiioonn  ooff  tthhee  mmooddeell..  IIff  tthhee  ssoouurrccee  ooff  tthhee  pprroobblleemm  iiss  ssuussppeecctteedd  ttoo  bbee  dduuee  ttoo  oommiissssiioonn  ooff  
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iimmppoorrttaanntt  vvaarriiaabblleess,,  tthhee  rreemmeeddyy  iiss  ttoo  iinncclluuddee  tthhoossee  oommiitttteedd  vvaarriiaabblleess..  BBeessiiddeess  iiff  tthhee  ssoouurrccee  ooff  tthhee  

pprroobblleemm  iiss  bbeelliieevveedd  ttoo  bbee  tthhee  rreessuulltt  ooff  mmiissssppeecciiffiiccaattiioonn  ooff  tthhee  mmooddeell,,  tthheenn  tthhee  ssoolluuttiioonn  iiss  ttoo  

ddeetteerrmmiinnee  tthhee  aapppprroopprriiaattee  mmaatthheemmaa tt iiccaa ll  ffoorrmm..    

  

IIff  iitt  iiss  ppuurree  aauuttooccoorrrreellaattiioonn,,  oonnee  ccaann  uussee  aapppprroopprriiaattee  ttrraannssffoorrmmaattiioonn  ooff  tthhee  oorriiggiinnaall  mmooddeell  ssoo  tthhaatt  

iinn  tthhee  ttrraannssffoorrmmeedd  mmooddeell  wwee  ddoo  nnoott  hhaavvee  tthhee  pprroobblleemm  ooff  ((ppuurree))  aauuttooccoorrrreellaattiioonn..  AAss  iinn  tthhee  ccaassee  ooff  

hheetteerroosscceeddaassttiicciittyy,,  wwee  wwiillll  uussee  ssoommee  ttyyppee  ooff  ggeenneerraalliizzeedd  lleeaasstt--ssqquuaarree  ((GGLLSS))  mmeetthhoodd..  IInn  llaarrggee  

ssaammpplleess,,  tthhee  NNeewweeyy––WWeesstt  mmeetthhoodd  ccaann  bbee  aapppplliieedd  ttoo  oobbttaaiinn  ssttaannddaarrdd  eerrrroorrss  ooff  OOLLSS  eessttiimmaattoorrss  

tthhaatt  aarree  ccoorrrreecctteedd  ffoorr  aauuttooccoorrrreellaatt iioo nn..    

  

I) The method of generalized least squares (GLS) 

 

Knowing the consequences of autocorrelation, especially the lack of efficiency of OLS 

estimators, we may need to remedy the problem. The remedy depends on the knowledge one has 

about the nature of interdependence among the disturbances, that is, knowledge about the 

structure of autocorrelation.  

 

Consider the two-variable regression model: 

    YYtt    ==    00   ++  11XXtt  ++  UUtt  ………………………………………………..…………  ((ii))  

AAnndd  aassssuummee that the error term follows the AR(1) scheme, namely 

UUtt  ==  UUtt--11   ++  tt                wwhheerree  --11<<   <<11    

  

There are two cases: 

 when  is known and  

 when is not known but has to be estimated. 

 

When    ii ss  kknnoowwnn  

 

TThhee  sseerriiaall  ccoorrrreellaattiioonn  pprroobblleemm  ccaann  bbee  ssaattiissffaaccttoorriillyy  rreessoollvveedd  iiff  tthhee  ccooeeffffiicciieenntt  ooff  aauuttooccoorrrreellaattiioonn,,  

 ,,  iiss  kknnoowwnn..   

  

RReeccaallll  tthhee  ttwwoo  vvaarriiaabblleess  mmooddeell..  

      YYtt    ==    00   ++  11XXtt  ++  UUtt  ……………………………………………………………………………………..…………  ((ii))    

AAtt  ttiimmee  tt--11  tthhee  aabboovvee  mmooddeell  wwiillll  bbee  

    YYtt--11   ==  00   ++  11XXtt--11   ++  UUtt--11  ………………………………………………………………………………..…………....((iiii))    

MMuullttiipp llyyiinngg  bbootthh  ssiiddeess  bbyy   ,,  wwee  oobbttaaiinn  

  YYtt--11   ==  00   ++  11XXtt--11   ++  UUtt--11  ………………………………………………………………......…………....((iiiiii))  
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SSuubbttrraaccttiinngg  ((iiiiii))  ffrroomm  ((ii))  ggiivveess    

((YYtt  --  YYtt--11))  ==  ((00   --  00))  ++  ((11XXtt  --  11XXtt--11))  ++  ((UUtt  --  UUtt--11))  

          ==  00   ((11--))  ++  11((XXtt  --XXtt--11))  ++  tt  ............................................................((iivv))  

wwhheerree  tt==  UUtt  --  UUtt--11  

  

TThhee  ttrraannssffoorrmmeedd  mmooddeell  ccaann  bbee  eexxpprreesssseedd  aass    

  YY
**

tt  ==  
**

00   ++  
**

11XX
**
tt   ++  tt          ......................................................................................................((vv))  

WWhheerree  YY
**

tt   ==  YYtt   --   YYtt--11 ,,    
**

00   ==  00   --   00   ,,  XX
**

tt   ==  ((XXtt   --   XXtt--11))  aanndd  
**

11==11   

  

SSiinnccee  tt   ssaattiissffiieess  tthhee  OOLLSS  aassssuummppttiioonnss,,  oonnee  ccaann  aappppllyy  OOLLSS  ttoo  tthhee  ttrraannssffoorrmmeedd  vvaarriiaabblleess  YY
**
  aanndd  

XX
**
  aanndd  oobbttaaiinn  eessttiimmaattoorrss  wwiitthh  aallll  tthhee  ooppttiimmuumm  pprrooppeerrttiieess,,  nnaammeellyy  BBLLUUEE..  RReeggrreessssiioonn  ooff  tthhee  

ttrraannssffoorrmmeedd  mmooddeell  iiss  eeqquuiivvaalleenntt  ttoo  uussiinngg  ggeenneerraalliizzeedd  lleeaasstt  ssqquuaarreess  ((GGLLSS))..  IInn  sshhoorrtt,,  GLS is 

nothing but OLS applied to the transformed model that satisfies the classical assumptions. 

Regression of equation (iv) is known as the generalized, or quasi, difference equation. It 

involves regressing Y on X, not in the original form, but in the difference form, which is obtained 

by subtracting a proportion (= ρ) of the value of a variable in the previous time period from its 

value in the current time period. Note that in this differencing procedure we lose one observation 

because the first observation has no antecedent. 

 

             When  is not known  

AAlltthhoouugghh  ssttrraaiigghhtt  ffoorrwwaarrdd  ttoo  aappppllyy,,  tthhee  mmeetthhoodd  ooff  ggeenneerraalliizzeedd  ddiiffffeerreennccee  iiss  ddiiffffiiccuulltt  ttoo  rruunn  

bbeeccaauussee,,     ,,  ppooppuullaattiioonn  ccoorrrreellaattiioonn  ccooeeffffiicciieenntt  iiss  rraarreellyy  kknnoowwnn  iinn  pprraaccttiiccee..  TThheerreeffoorree,,  aalltteerrnnaattiivvee  

mmeetthhooddss  nneeeedd  ttoo  bbee  ddeevviisseedd..  

 

The First-Difference Method. Since ρ lies between 0 and ±1, one could start from two extreme 

positions. At one extreme, one could assume that ρ = 0, that is, no (first-order) serial correlation, 

and at the other extreme we could let ρ = ±1, that is, perfect positive or negative correlation. 

As a matter of fact, when a regression is run, one generally assumes that there is no 

autocorrelation and then lets the Durbin–Watson or other test show whether this assumption is 

justified. If, however, ρ = +1, the generalized difference equation in equation (iv) above reduces 

to the first-difference equation: 

 

((YYtt  --  YYtt--11))  ==  11((XXtt   --  XXtt--11))  ++  ((UUtt  --  UUtt--11))  

                            XXtt  ++tt            

  

The first difference transformation may be appropriate if the coefficient of autocorrelation is 

very high, say in excess of 0.8, or the Durbin–Watson d is quite low. Strictly speaking, the first-

difference transformation is valid only if ρ = 1. Maddala has proposed this rough rule of thumb: 

Use the first difference form whenever d < R2. An interesting feature of the first-difference model 

is that there is no intercept in it. Hence, we have to use the regression through the origin. 



2299  

  

 

Computing ρ from Durbin–Watson d Statistic. If we cannot use the first difference 

transformation because ρ is not sufficiently close to unity, we have an easy method of estimating 

it from the relationship between d and ρ as follows: 

ρ ≈ 1 – 
2

d
 

 

Thus, in reasonably large samples one can obtain rho and use it to transform the data as shown in 

the generalized difference equation.  However, the relationship between ρ and d may not hold 

true in small samples. 

 

Estimating ρ from the residuals. If the AR(1) scheme ut = ρut−1 + εt is valid, a simple way to 

estimate rho is to regress the residuals tû  on 1
ˆ
tu , for tû  the  are consistent estimators of the true 

ut. That is, we run the following regression: 

 ttt vuu  1
ˆˆ   

where, tû are the residuals obtained from the original (level form) regression and where vt are the 

error term of this regression. Note that there is no need to introduce the intercept term, because 

the OLS residuals sum to zero. 

 

Iterative Methods of Estimating ρ. All the methods of estimating ρ explained above provide us 

with only a single estimate of ρ. But there are the so-called iterative methods that estimate ρ 

iteratively, that is, by successive approximation, starting with some initial value of ρ. Among 

these methods are: 

  Cochrane–Orcutt iterative procedure,  

  Cochrane–Orcutt two-step procedure,  

  Durbin two–step procedure, and  

  Hildreth–Lu scanning or search procedure. 

 

Of these, the most popular is the Cochrane–Orcutt iterative method. One advantage of this 

method is that it can be used to estimate not only an AR(1) scheme, but also higher-order 

autoregressive schemes.  Having obtained the two rhos, one can easily extend the generalized 

difference equation. 

TThhee  CCoocchhrraannee--OOrrccuutt tt   iinntteerraatt iivvee  PPrroocceedduurree    

TThhiiss  pprroocceedduurree  hheellppss  ttoo  eessttiimmaattee     ffrroomm  tthhee  eessttiimmaatteedd  rreessiidduuaallss  tÛ ssoo  tthhaatt  iinnffoorrmmaattiioonn  aabboouutt  tthhee  

uunnkknnoowwnn     wwiillll  bbee  ddeerriivveedd..    

  

TToo  eexxppllaaiinn  tthhee  mmeetthhoodd,,  ccoonnssiiddeerr  tthhee  ttwwoo--vvaarriiaabbllee  mmooddeell  

  YYii  ==  00   ++  11XXii  ++  UUii    ......................................................................................  ((aa))  
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aanndd  aassssuummee  tthhaatt  UUtt   iiss  ggeenneerraatteedd  bbyy  tthhee  AARR((11))  sscchheemmee  nnaammeellyy  

  UUtt   ==  UUtt--11   ++  tt   ........................................................................................  ((bb))    

CCoocchhrraannee  aanndd  OOrrccuutttt  tthheenn  rreeccoommmmeennddeedd  tthhee  ffoolllloowwiinngg  sstteeppss  ttoo  eessttiimmaattee  ::  

SStteepp  11::  EEssttiimmaattee  tthhee  ttwwoo  vvaarriiaabblleess  mmooddeell  bbyy  tthhee  ssttaannddaarrdd  OOLLSS  rroouuttiinnee  aanndd  oobbttaaiinn  tthhee  rreessiidduuaallss  

tÛ   

SStteepp  22::  UUssiinngg  tthhee  eessttiimmaatteedd  rreessiidduuaallss,,  rruunn  tthhee  ffoolllloowwiinngg  rreeggrreessssiioonn    

  tÛ   ==  tt VU 1
ˆ̂   

SStteepp  33::  UUssiinngg  ̂ oobbttaaiinneedd  ffrroomm  sstteepp  22  rreeggrreessssiioonn,,  rruunn  tthhee  ggeenneerraalliizzeedd  ddiiffffeerreennccee  eeqquuaattiioonn  aass  

ffoolllloowwss    

  ((YYtt   --   ̂ YYtt--11))  ==  00   ((11-- ̂ ))  ++  11((XXtt   --   ̂ XXtt--11))  ++  ((UUtt   --   ̂ UUtt--11))  

  oorr  YY
**

tt   ==  
**

00   ++  
**

11XX
**

tt   ++  
*ˆ
tU   

SStteepp  44::  SSiinnccee  aa  pprriioorrii  iitt  iiss  nnoott  kknnoowwnn  tthhaatt  tthhee  ̂ oobbttaaiinneedd  ffrroomm  tthhee  rreeggrreessssiioonn  iinn  sstteepp  22  iiss  tthhee  bbeesstt  

eessttiimmaattee  ooff   ,,  ssuubbssttiittuuttee  tthhee  vvaalluueess  ooff  
*

0̂   aanndd  
*

1̂ oobbttaaiinneedd  ffrroomm  tthhee  rreeggrreessssiioonn  iinn  sstteepp  33  

iinnttoo  tthhee  oorriiggiinnaa ll  rreeggrreessssiioonn  ((aa))  aanndd  oobbttaaiinn  tthhee  nneeww  rreessiidduuaallss,,  ssaayy  
**ˆ

tU aass    

    
**ˆ

tU   ==  YYtt   --   
*

0̂   --   
*

1̂ XXtt   

NNoottee  tthhaatt  tthhiiss  ccaann  bbee  eeaassiillyy  ccoommppuutteedd  ssiinnccee  YYtt ,,  XXtt ,,  
*

0̂   aanndd  
*

2̂ aarree  aallll  kknnoowwnn..    

SStteepp  55::  NNooww  eessttiimmaattee  tthhiiss  rreeggrreessssiioonn    

  
**ˆ

tU   ==  
**

1
ˆˆ̂

tU ++  WWtt   

WWhheerree  ̂̂ iiss  tthhee  sseeccoonndd  rroouunndd  eessttiimmaattee  ooff   ..  

SSiinnccee  wwee  ddoo  nnoott  kknnooww  wwhheetthheerr  tthhiiss  sseeccoonndd  rroouunndd  eessttiimmaattee    ̂̂     iiss  tthhee  bbeesstt  eessttiimmaattee  ooff   ,,  wwee  ccaann  

ggoo  iinnttoo  tthhee  tthhiirrdd  eessttiimmaattee,,  aanndd  ssoo  oonn..  TThhaatt  iiss  wwhhyy  tthhee  CCoocchhrraannee--OOrrccuutttt  mmeetthhoodd  iiss  ssaaiidd  iitteerraattiivvee..  

BBuutt  hhooww  lloonngg  sshhoouulldd  wwee  ggoo  oonn??  TThhee  ggeenneerraall  pprroocceedduurree  iiss  ttoo  ssttoopp  ccaarrrryyiinngg  oouutt  iitteerraattiioonnss  wwhheenn  tthhee  

ssuucccceessssiivvee  eessttiimmaatteess  ooff     ccoonnvveerrggeess..  TThhuuss,,  wwee  sseelleecctt  tthhaatt  cchhoosseenn     ttoo  ttrraannssffoorrmm  tthhee  mmooddeell  aanndd  

aappppllyy  aa  kkiinndd  ooff  GGLLSS  eessttiimmaattiioonn  tthhaatt  mmiinniimmiizzeess  tthhee  pprroobblleemm  ooff  aauuttooccoorrrreellaatt iioonn..    

  

Note that: 

 

1. Since the OLS estimators are consistent despite autocorrelation, in large samples, it 

makes little difference whether we estimate ρ from the Durbin–Watson d, or from the 

regression of the residuals in the current period on the residuals in the previous period, or 

from the Cochrane–Orcutt iterative procedure because they all provide consistent 

estimates of the true ρ.  
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2. The various methods discussed above are basically two-step methods. In step 1 we obtain 

an estimate of the unknown ρ and in step 2 we use that estimate to transform the variables 

to estimate the generalized difference equation, which is basically GLS. But since we use 

̂  instead of the true ρ, all these methods of estimation are known in the literature as 

feasible GLS (FGLS) or estimated GLS (EGLS) methods. 

 
 

3.  It is important to note that whenever we use an FGLS or EGLS method to estimate the 

parameters of the transformed model, the estimated coefficients will not necessarily have 

the usual optimum properties of the classical model, such as BLUE, especially in small 

samples. In short, whenever we use an estimator in place of its true value, the estimated 

OLS coefficients may have the usual optimum properties asymptotically, that is, in large 

samples. Also, the conventional hypothesis testing procedures are, strictly speaking, valid 

asymptotically. In small samples, therefore, one has to be careful in interpreting the 

estimated results. 

 

4.  In using EGLS, if we do not include the first observation (as was originally the case with 

the Cochrane Orcutt procedure), not only the numerical values but also the efficiency of 

the estimators can be adversely affected, especially if the sample size is small and if the 

regressors are not strictly speaking nonstochastic. Therefore, in small samples it is 

important to keep the first observation à la Prais Winsten. 

 

II) The Newey–West method of correcting the OLS standard errors 

 

Instead of using the FGLS methods, we can still use OLS but correct the standard errors for 

autocorrelation by a procedure developed by Newey and West. This is an extension of White‟s 

heteroscedasticity-consistent standard errors. The corrected standard errors are known as HAC 

(heteroscedasticity- and autocorrelation-consistent) standard errors or simply as Newey–

West standard errors.   

 

This method is strictly speaking valid in large samples and may not be appropriate in small 

samples. Therefore, if a sample is reasonably large, one should use the Newey–West procedure 

to correct OLS standard errors not only in situations of autocorrelation only but also in cases of 

heteroscedasticity, for the HAC method can handle both, unlike the White method, which was 

designed specifically for heteroscedasticity. 

 


